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uEd-2 — Qurg sidlay
Part-A — General Studies

cilenrméser : 1-100
Questions :1-100

1.  Arrange the following OSI layers in order

(1)
(2)
()
(4)

s

(€)
(E)

Data Link Layer
Physical Layer
Transport Layer

Network Layer

(2}, (1), (4), () (B) (2), (3), (1). (4)
(4), (3), (2). (1) (D) (3), (1), (4), (2)
Answer not known

Getmeumin OS] sfsEsae aflensiiu@bsab.

(1)
(2)
()
(4]

(A)
(C)
()

gre| [Benest i o e
e <=t
BLAS EES

(Bl emesmeucnay < (hiEE

(2), (1), (4), (3) (B) (2), (3), (1), (4}
(4), (3), (2), (1) (D) (3), (1), (4), (2)
cflani. @sflwetideana
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2.  Assertion [A]

Reason [R]

In humans, individuals inherit Mitochondrial
DNA strictly from their mothers,

Therefore, the mtDNA sequences obtained from
maternally related individuals such as a brother
and a sister {or) a mother and a daughter exactly
match each other when there is no mutation in
either of cases,

(A) [A] is true but [R] 15 false
V(;Bf Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

sapp [A]

SFemLD [R]

waflgraefis  wnIud o Corsradm flud mtDNA

gpeboleu mReuHLD SRS Al Qupms
DasnerEmnTser.

mtDNA-anw i sniihs sCamaTi Lo iy
sCangfisafl_Gur  s@ag sni  wpgo  wseflGon

@mpsrgud FHE  wordmbd @dampd @By wrdflurs
&Gl mararamb.

@) [A] o oo [R] sy

(B) [A] whmb [R] & wppn [R], [Aldfparer sflurar sfenssin

(€} [A] o [R] &

(D) [A] wpgs [R] &8, e [R], [Alefiparer sfiuirer afarssn Elebanen

(E) eflen Qaflwsildena

GST2AM/2025
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3. In IVF technique, fusion of sperm and ovum takes place in

(A) Vagina

(B) Fallopian tube
\9?( Culture medium
(D} Uterus

(E} Answer not known

IVF wepl@a sfpsapeyd semaph EBaermaug Gemameauarapiia add
Gl Lyl ns 7

(A) Curafs @pms

B) suCaridudn @gm

(C) eueniuy esiLsb

(D) amlisou

() e Gaflweidana

= 5 GST2AM/2025
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4.  Choose the right matches among type

The methods employed in miero propagation and improvement of

tree gpecies are

(1)  Clonal multiplication —  Prosopis cineraria

(2) Protoplast culture and —  Dalbergia sizso
genetic engineering

(3) By somatic embryogenesis - Cupressus arizonica

(4) Germplasm conservation —  Tectona grandis

(A) (1) and (3) correct (B) (1) and (4) correct

(Cy (2) and (3) correct (D} (3) and (4) correct

(E) Answer not known

Eypsmer_aufifls sfluman Genamanis SRR 1o S e b,

Ww&GIT LLySE oHgh o] Berkseaar GuobuFssib (Lpenn

(1)  Elemered Qumés gpep = yGonGemTety AeflGrflwn
(2)  yGrmiCLnm Slerreior ety - LmeurgBun S

wibpib oo Gurilulued (peemn
(3) e el sm e maurssn —  urenay HfCeredlEm
(4]  CggrbGenrad urgsETiy —  GI_&GL_manm &ymetmig so
(A) (1) inpguib (3) sl (B) (1) whmd (4) af
(€ (2) wppn (3) A (D) (8) womb (4) &/

(E)  efler Gaefiuefildema

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

GST2AM/2025 R INERE . —
@& c el wmmb eflen,. RouE) pualinsns
SUELLER (0wl eI (L0 SR S8 LILIL. | GTYSTT ).
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Which of the following is incorrectly paired?
(i) Atal Tinkering Lab —

(1)

(111)

(1v)

(A)

Krishi Neev =

Palna -

Unnati —

(iv) only

27 (iii) only

(E) Answer not known

Nurtures an Innovative mindset
towards research amongst high
school students

Platform to promote technology
interventions in agriculture

Provides support service like safe
accommodation and Medical
assistance to working women

Technology platform  integrated
with artificial intelligence to match
job providers with seekers

(B) (i) and (ii) only

(D) (i) and (iv) only

Seneupreieraupile org saumms Eemen sl e ?

(1)

(i1)

(ii1)

(iv)

()
(€)
(E)

e g ST D EuED —

Afia Ba -

(W= 41 —

o gren d =3t

(iv) wi (b
(111) i {h
eflem Qg flwafldamean

pumflensy  weell  omemeufSaTlen Gu
s rmiESESTE LiSenLow nen LTI em e s
suarré&Eng

alileusmuiggla Cgmfle EULE
genanl(Hsemen saimellsiEh garb
wanflyfluyh Duensigndeml Lrgeriurer
gl b wppibd  omsge 2 s
Gumem T TG & Sronausaer
supiGH g

Gouanad Ca(puauia g (Gouena
supigUeitsaman  Gummhs Cewubos
e [l L LT (s enamESELILILL
Ggmfleom g Semb

(B) (i) wppun (1) w G
(D) (i) wpgud (iv) WD

T GST2ZAMIZ025

[Turn over



6. Match the following :

(a) Hydrogen bomb 1. Uncontrolled nuclear
fission reaction

{b) Power reactor 2. Controlled fusion reaction

{c) Magnetic confinement of 3. Controlled fission reaction
plasma

(d)y Atom bomb 4. Fission - Fusion reaction

(@) (b (@ (d)
(A) 2 1 4
(B) 1 3 4
() 3 4 1

3

o 4 2

(E) Answer not known

L - T i

dldraumelenalhenn CUNESSHS ;

() enam rgnen @&sir() l. s_fEour hn gmissm
Slemay aflenge

(b) Aper eena 2, sLEUUBSSLLC L Blaana,
alllenan

(e} Sernevwomaildr snhgaiie 3. SLEOURSSIUCL sgmEs

2Ll Mlarey el

(d) g e 4. mygnésm daray - Eaenay

allenan

ta) (b)) (& ()
(A) 2 1 4
(B) 1 3 4
(Cy 3 d 1
(D) 4 3 2
(E) dflen @pflweldena

= b3 B2 Q3

GST2AM/2025 8 :
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Which of the following is/are correct about Dip-Pen Nano
Lithography (DPN)?

(i) Itis a direct method

(ii) It works on diffusion through water molecules

(ii1) It patterns a variety of materials

(iv) Tt is a fast scanning process

(A) (i) only (B) (1) only
U (. (i) and (iii) only (D) all of the above

(E) Answer not known

demeumeueareuifle o@/aaner 190 Guenn prisann MCeréigma (DPN) wbdl

il mesaneay 9

1) @9 oo GCory pep
(i) Ga savafng (pasmnsd UTagd gpab Gauma Ba0ENs

(iii) @& vaGamuc L Qurm salldr aigabsme auaTSng

(iv) P& e 2@Gus enlsdr Qaudapanp

(A} (1) wiFo (B) (i) @b
(©) (), (i) whmd (i) w @ (D) Guopsnfi siemansib

(E) eflen. Gaflwehdens

g GGSTZAM/2025
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8. The primary objective of Global One-Stop Centres (0S8Cs)
established by Ministry of external affairs is
(A) Promote student and faeulty exchange programme

(B) Facilitate research and development among Higher Education

Institutions

\)I?f Provide comprehensive assistance to women in vulnerable

situations
(I} Support Indian students studyving abroad during erisis

(E) Answer not known

Brdu Guwelluypes gop seosssisid Apuoult sesareiy g
Bmds eoubseaier (0SCs) apserenn Cprasi

(A)  wremaut wppb sdfwr ufwrhp S0 dens emEEelLLgDETS

(B ewt sodl Ppeentsdfeo Gu  rmosd whmd  Guobum en
eratlgmin

(C) urfléstiudmgu  mpPoadies sda Quarsends o feurar
e gollsmenar aupriss

(D) Gpmésylen Cung GQaaipm gd UnsEn  Gidw LT GRT GUITE R S,
BB euetlse

(E) eflar Qasfluellcoena

GST2AM/2025 10 :



Arranging chronological order/event type

Arrange the following poverty alleviation programmes in

chronological order

(1) Sampoorna Grameen Rozgar Yojana

(2) Swarnajayvanthi Gram Swarozgar Yojana

(%) Integrated Rural Development Project

(4) Food for Work Program

@) @, @.@.@ (@), 3), @. )
(C) (2). (4, (3), (1) (D) (3), (4), (1), (2)
(E) Answer not known

£pssarL Bspasanen snaeufl@mslfsgis.

WSlereumit aumenio el S Liiseer ardeflens iLig gEEELIGESE|D

(1)
(2)
(3)
(4)

(A)

(C)
(E)

sy e Sgmber Grreust Gumgert
ehauramBmussl dymb sveuGrravsl Guirgerr
gk Samenfs pays cuartssls S

Geumassten eameas SULb

(1), (2), (3). (4) (B) (4), (3), (2), (1)
(2), (1), (3), (1) (D) (3), (4), (), (2)
alen Gailweidena

11 GST2ZAM/2025
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10.  Assertion [A] : The lack of alternate employment, skill training
(or) credit facilities for women, is another factor

that keeps them in poverty.

Reason [R] : Poverty is increasingly becoming a feminine
identity.
(A) [A] 18 true but [R] 15 false
_JB( Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false but [R] is true

(1) Both [A] and [R] are true, but [R] is not correct explanation of
[A]

(E) Answer not known

apm [A] P GQuensgpasrer wrhy  Geens  eumiciy, Sper  LlhA
Seem sLdr asd Bdangs etseas  apenods
eveuddlmagl h@prey snyeflumesb.

srpems [R] : apenw Ggmfhg Queneilu  sen_wienors o
sumEImE.
(A)  [A] eamenin syemmed [R] maugy

(B) [A] wppi [R] @ran@in eereans, [R] eenug [A] slbsmear sfiumer
eilerdsid

(€)  [A] sy yamar [R] e airanio

(D) [A] womie [R] Grew@n esman o [R] serugy [Alefldsrar
sflwmar eflenésib e

(E)  seflen Qasflwelldena

Ll

GST2AM/2025 12



11.

Article of the Indian Constitution' Prohibits the
emplovyment of children in Factories, Mines, or any other hazardous

accupation.
(A) 21A
B 24
(C) 17
(D) 39

(EY Answer not known

@b e S Hitey, Aenfibsranasdr, srhskisdr
mdwgn Cam ohs sugster Gerfdigin  Epieagsmer  Caeneads,
HnTgcuanss san QHLEIDg.

(A) 21A
(B) 24
€ 17
(D) 39

(B} eflen Gafwshichena

13 GST2AM/2025
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12. Match the schemes with vears.

{fa) Neengal Nalama 1. 2000
(b) Manu Needhi 2. 2021
(¢} Kural Mutrodhal 3. 2024
(d) Ilam Thedi Kalvi 4. 1969

(@) (b} (o (d)

e 3 4 1
® 1 2 3 4
o) 8 i - 1 9

3

(D) 4 1 2
(E) Answer not known

Eipsangmih S L Riseer Sibshs cumLSEIL BUTELES.

- (@) frumer pesion 1. 2000
(b) ey £ 2, 2021
(©) @mer qppBonsd 3. 2024
(d) Géab Cog sdald 4, 1969

(a)  h)  (© (d
(A) 2
(B) 1
C) 3
() 4
(E) aflen Ggflucidase

(B N = T

4
3
1
2

Lo b = =

GST2AM/2025 14



13.

Tamil Nadu skill development corporations established a new
platform by using Al Technology to guide the youth's employment

and skill training iz called as

(A) ‘Inaya’

v@f Tlaya’

(C) ‘WNaan Mudhalvan’

(D) You are vour own king' Scheme

(E) Answer not known

SBIPETG Sper Guobum' Hi& spsd beupas perambleas Csrfe mLsden

ppeunns Fenemerisiende Ceuma aumiiy whonbd Smer LlbRss aflam_ @

BinDGELI UL L G Senib
(A) ‘Blenamy’

(B) ‘Gewerus

(C) ‘meer qpgdaustr

(D) ‘RBCuw zerdg orggr’ 71 b

(E) &fen_ Qaflwsieana

15 | GSTZAM/2025
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14. state has the highest percentage of unemployment
during the vear 2022-23,

,J,ﬁrf Kerala (B) Harvana
(C) Punjab (D) Tamil Nadu

(E) Answer not known

wrfleon  2022-23 serslsfudar  Gura  sifls
Geueneuul ehrenin eAlESID blEmam_ Lomhlanb.

(A) Cagerm (B) epflwrern
(C)  ugren (D} sblpmne
(E) eblen_ Gaflwshidana

15. The Total Gross Enrollment Ratio of Tamil Nadu in higher
education during 2021-2022 was

(A) 45 percent (B) 46 percent
ﬁ 47 percent (D} 48 percent

(E) Answer not known

2021-2022 b sdaefl syamigd gulihpriod e uf sodeilt uuBldGeumfien

Lorgsl wdlay LT
(A) 45 saellflsn (B) 46 szefldlzm
(C) 47 ssellflsd (D) 48 sscflds

(E)  &flen Qaflweldena

GST2AM/2025 16 =



16. Which of the following credit schemes for Farmers Producers

Organisations (FPOs) 18 incorrectly paired?

(i) Credit guarantee scheme —  Direct cash grants

(i1) Mezzanine capital assistance —  Non repayable credit

(i11} Revolving fund support —  Concessional credit

(iv) Nabkizan —  Initiates credit schemes
with T.N.

Ay ) s @7 (i) and (i)

(Cy (ii1) and (iv) (D) (1) and (i11)

(E} Answer not known

asnbsd o pugdurat seollpsia Semumd soar 0 tisafld ag
SEUDNE Blenaurss UL (Hereng ?

(1) s_en egaraunss Hlib —  Gprw uew £

(i) Qusveurmarsr apagan 2 ga - Amu9F Gegubsppuns SLer

(i) spa HH srey —  FGEE &G0

(iv) muidleran —  aUllpENH srslsn Eananss)
&Ll S 1 Aisenars
GQeusufsE s

(A) (i) o (iv) (B) () wihmed (i1)

(C) (i) wpgd (v) (D) (1) mgud (1)

(E) &flen Qg flwehlusna

= 17 GST2ZAM/2025
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17.  Which of the following statements are True about features of Tamil
Nadu Economy?

(i)
(i1)
(ii)

(A)

Tamil Nadu has 7% highest GSDP per capita
Tamil Nadu has low industries and small service sectors

Tamil Nadu ig second largest economy among the states in
India

(i) only
(1) and (ii) only

W& (i) only

(D)
(E)

(1) and (iii) only

Answer not known

Sflppn@ dunmarmgnigdler Budysmery updu Geaimd smpgpssio s

£ EnranLh

(i)

(i1}
(iii)
(A)
(B)
(€

(D)
(E)

GST2ZAM/2025 - 18

gleraiog 9 gaflpun amorasdd sllpprd T-ag e wibs B sda
& drarg '

sllpErD  menhs Cznfesdr wimb fApy Cemad sepsmend
& maiw ([iamaTg

Gsfundiey oder orfadseid sSBEETR GSreriraus  Glufu
CummeaTTErrieng o ez

(1) o Gub

(1) whmb (1) wi FGub
(111) i @ib

(11} wehpubd (111) weGib

éflani_ (s Mushldeane

1



18. Match the following climate conferences with respective themes,

(a} Kyoto protocol 1. Limit global temperature rise

(b} Rio Earth summit 2. Protecting Ozone layer

(¢) Paris Agreement 3. Global Framework for sustainable
development

(d) Montreal protocol 4. Commitment to reduce emissions

(@ (b)) (e ()

(A) 2 3 1
(B) 4 2 3

\58)'4_3 1
D) 2 1 4

(E) Answer not known

B B = =

Demeugmid sraflaea LIENHsmaTUD HE ETTHS SHEEOSLD BUTESSS.

(a) ACurcBirm Qpfigpeen 1. ews Galufena e wieme
BLEHUUGSES®
Gleme ULagng LNSISrssd

b

(b) MGun bl = &4l wrsn

(c) wrfldy gD 3. Feewrar euertdflssrer o asanraliu

o Bl O~y [ W

(d) wram fd dEdlopan 4, efpoa HeoplUusbsren fdueiioy

(@ M @© (d

(A) 2 3 1 4
(B) 4 2 3 1
(C) 4 3 1 2
(D) 2 1 4 =
(E) e Glgflwesldbans:
= 19 - GST2AM/2025
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19. Assertion [A]

Reason [R]

COP28 marked a significant milestone in global
climate action by explicitly calling for a transition
away from fossil fuels,

The Global stocktake, a key component of the
Paris Agreement, highlighted the urgent need to
accelerate climate action.

(A) Both [A] and [R] are true, and [R] is the correct explanation

of [A]

Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(C) [A] is true, but [R] is false
(I [A] is false, but [R] is true
(E) Answer not known

ampm [A]

srrasn [H]

v efidungaseiadimiy qm Bwss wippsdbenen

Glasefliumiwner  sempinflanmd e osaralu  srefiaa
plaugiammuies, COP2B, gm sflulS ssss ewdadeama
S EEE.

umflée  glugssdlar  gpadho  smsorer  @Cetrud
soLnaGLé,  sraflee  plansmsey  gfisuubss
Geuamg W seusrs Coamamyu el Esansss.

(A4)  [A] whme [R] @rewBib esdrens, Cugs [R] eretrLigy [A] Blén sflwmes
alamEEinms LD

(B) [A] wppud [R] @rewin 2 @mann, spemd [R)] erdmug [A] @ stuman

Al ardEminda

(C)  [A] esimenw. yammds [R] ererug saupreng
(D) [A] eenug seupneng), spemd [R] erémug o dmenio
(E)  aflen Gafuchdens

GST2AM/2025
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20. The threatened species found in the Agasthiayamalai Biosphere
Reserve are
(i) Lion-tailed macaque, slender loris and great pied hornbill
(i1} Rudraksh tree, black plums, wild dahman and gaub tree

(iii) Slender loris, lion-tailed macaque, black plums rudraksh tree
and green pit viper

\W’ (i) and (ii) only

(B) (i1) and (111) only
(C) (im) and (i) only
(D) (i), (ii) and (ii1)

(E) Answer not known

ssdfunemes  oulfsGsrad  smiusgdle stearoufle ylbs  emb
EleniEET eremLena)

(1) Srsard @i, vdlant Garfla, Gufiu @ul aorhdndia

(i) (me&fyris wb, sEOY Sembd, &7F L@hoTer, WHpb SM WD

(i} Qoadu Carfid, Ahseurd @G, sEay  Senb, @ESITCF 07D,
whmh LFenss @bl epeudind

(A) (1) wdgd (1) i G

(B) (i) whpud (111) B

(C) (iil) whpd (1) wiGub

(D) @), (il) wpps (i)

(E) el Glsflwelcansn

= 21 GST2AM/2025
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22,

GST2AM/2025 22

Consider the following statements.

(a) Forests regulate floods and droughts

(b)  Almost 10% of tropical forests are lost each year

(e}  Nearly 47% of forests Worldwide are tropical forests
(d) 45% of the World's forest are under protected areas

The correct statements are ;

(A) (b) and (c) (B) (a), (b) and (c)
-.,GE-')’ (a) and (c) (D) (e) and (d)

(E) Answer not known

Hewmaumin ayfismasmas smidld Garda,

(a) eueriuser Glaudrend whmn e &anw FREL G SEHdmer

(b) speullaungy, eugmigpd, £igste 10% Quouca e stEsd
Elpssiu HAenman

(€) e alstfgb oden srGsefla A0 gs L 47% Geuliuwar o snfse
TG
(d) = adlar 45% anfea urgisndsiu e ugfeefd o drmemar

aflwmar yfEmnssdr aaTUMmel

(A) (b) wagud (c) (B) (a), (b) whpb (c)
(€} (a) pigs (c) (D) (e) whpnd (d)
(E) cflen @aflwelicaman

satellite was sent by [SRO on 1% January 2024 to
atudy cosmic X rays.

(A) ASTROSAT (B) Aditya -1
(C) Chandrayan -1 \ﬂ'ﬁ Xposat
(E) Answer not known

beupasGendar 1, meraufl 2024 sy el sreufls
arha sflisema e Cleiuph Cumnm’ § sgioutus s g,

(A) el Cpmems (B) s@swn- 1
(C) spflquimer - 1 (D) eraenurem
(E) el @sfwaileanea

1



23, (Central salt and marine chemicals Research Institute is located at

(A) Cochin (B) Chennai

{9)’ Bhavnagar (D) Narimanam

(E) Answer not known

WS & Ly whb Sl S rriFd Bpeuend il enbaerarg ¥
(A) Qarédlan (B) Gesimenen
(C) udipst (D) pRossmi

(E) dle dgfweilsbene

24. Clean Air Act was passed in the year

W'/ 1970 (B) 1972

(C) 1969 (D) 1980

(E) Answer not known

sésonen snhmE £ LD BenBeabpiu L s e

(A) 1970 (B) 1972
(C) 1969 (D) 18980

(E) ellen Egflwellebans

- 23 GST2ZAM2Z025
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25. Match the following Bird Sancturies with their districts :

Bird Sancturies
(a) Vettangudi
{b) Mayura Thottam

{c) Vellode

(d) Karaivetti

fa) (b
A 4 3
B 1 2
N2 20 B
(D) 3 2

(E} Answer not known

(e}

2
3
4
i

(d)

L I

L

Districts
Sivagangai
Ariyalur
Thoothukudi
Erode

Eeraumih LpetausET FrETTOLIMS S el L FEL s DUnmssah ;

LIDenEUSeT FTesTmeiLDh
(a) Can'ieénsg
(B)  wsyn Guriib
(c) QeuarGarn(p
(d) =merGeu iy

(a) (b}
(A) 4 3
(B) 1 2
(C) 1 3
Dy 3 2

(E)  aflan Gafwshlbamen

GST2ZAM/2025

()

2
3
4
1

(d)

Lo

= b

24

1 = Y (AT, 4
Hloyakiemns
24Tl wgart

SEHSS
FGTrR



26.

T

Arrange the following periods in order :

(1)
(2)
(3)
(4)

(4A)
(B)

Prehistorie period
Chola’s period
Sangam period

Pallava's period

(1), (4), (3), (2)
@), (1), (1), (3)

& 0, 3),®, @

(D) (2), (3). (4), (1)

(E)

Bemraumlh Eraksmar apanpliuig sufleansliubis s -

(1)
(2)
(3)
(4)

(A)
(B)
()
(D)
(E)

Answer not known

cUIFEOMDM&E (pHLL L Smaid
Campi Smab
FhiG &ML

LSO EIT &ITeoLh

(1), (4), (3), (2)
(2, (4), (1), (3)
(1), (3), (4), (2)
(2), (3), (4), (1)
chlen Gleflueldene

25
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27.  Assertion [A] @ V.0.C charged with sedition, was sentenced to
forty vears of imprisonment.

Reason [R] . He attended Surat Congress session and followed
Tilak and preached his philosophy.

(A) [A] is true, [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation of
[A]
\&Oj/ Both [A] and [R] are true and [R] is not the correct explanation
of [A]
(D) [A] is false, [R] is true
(E) Answer not known

s [A] » wedl&s Gssp  gCmss  @hob 0 swssLULE
40 gemBas Aopssam aer il ssiu L g,

smpamb [R] © wmrg wprige sesy  Osnar@  Sesan SlebrLih i
pfgleubeans pafldpnt.

(A) [A] s, [R] seugy
(B) [A] wpgin [R] @iraniin o, Coand [R], [Aler sfwimen etlamdELn TiEiD
(C) [A] whpin [R] @ramiib =, Guognd [R], [Aler sfiwmar elardsd wydicn

D) [A] pauy, [R] &l
(E) el Gafueam

28. Ishwar Chandra Vidyasagar setup school for girls at

(A) Bombay (B) Surat
(C) Lahore JBT Calcutta
(E) Answer not known

Guersgnésmany ueaefleny mavaulr sty dlgwnanss Hmeiw @b

(A)  ubum (B) &08
(C) s (D) HEUEEHST
(E) eflen Glasfuehlcena

11
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29, What have to be realized if vou want to overcome the ignorance and

feel healthy?
‘JA{ Be awar;e and believe on the immaculate truth
(B) Duty concious
(C) Karmie Action
(D) Medicinal knowledge

(E) Answer not known

yfiwmeis s Fob Gamermnd enalung ?

(A) wwssbd el wWrehn o amemDEL LB
(B) s_erwneny Glelgd

(C) =i Qewd

(D) wmsge sifley

(E)  eaflen Gsfiwelldeana

& 27 GSTZAM/2025
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30. Match the following :
(a) Justice Party
(b)y D.M.E.
{c) Dravida Kazhagam
(d) Self Respect Movement

(a) (b} (o (d)
0 & 1 B8
(B) 2 4 1

s 1 2

(Dy 3 1 4

ot Y O o N e

(E) Answer not known

silwmen aflan_anwg Aunmipss GFls

(a) PPssch

(b) A.0p.a.
() Aprafl i spain

(d) sweflures Ewésh

(@ Mm (© (@@

(A) 4 1 3 2

(B) 2 4 1 3

(Cy 3 1 2 4

(D) 3 1 4 2

(E) afen. Qgfucidma
GSTZAM/2025 28
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B N

1949
1944
1916
1025

1949
1944
1916
1925

1



31. The first state level meet of self respect movement was conducted at

which place?

V(jﬂ’ Chengalpet
(B) Madurai
(C) Chennai
(D} EKovai

(E) Answer not knuwn

swnflures Euissfa wsd onfleo seadare silbh o B dd

PGBl LG 7
(A) Qedisdul @
(B) wgeny

(C)  Qednaman
(D) CGarapeu

(E) eflen Gsifluiefiens

= 29 GST2AM/2025
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32. Which one of the following statements isfare wrong regarding

Edward Clive, the Governor of Madras Presidency?

(4)
(B)
(C)

o

(E)

He usurped the regime of Nawab of Arcot
He abolished the poligar system

During his tenure, the supreme court of judicature in madras
was founded

He did not show interest in the letter of Veera Pandya
Kattabomman stating the insult inflicted on him by Collector

Jackson

Answer not known

Clsarenen rsremgdler syemst alarl feard @flss QempEnr_rsefia

STGl/aTENE FeIDTETE

(A)
(B)
(©)

(D)

(E)

SphErE peumSlen siransss Lflsms Qsnearmh

unenemUEETT 0 # enman guilss

dearenemifie)  genarenw  fdwenpn  BlameLw oy fssrasdd
Hpasiuc g

sldaéul  grbsdr, senenen  seuwta URSS AL s el frLamesTig. 1L

sl Gombwen  epdlu sussdbe, el feend S feuLh

sl el ey

alen Aafwaildena

GST2ZAM/2025 30 : o



33.

Choose the right matches.

{1) Bankim Chandra Chatterjee — Anandmath

(2) Lord Minto —  Madras
(3) Swadeshi - VOC
(4) Lala Lajpat Rai — The National Council of
Education
W (1) and (3) correct

(B) (1) and (2) correct

(C) (1) and (4) correct
(D) (4) and (3) correct

(E)

Answer not known

Filwrer Qummsssans sy

(1) ksl splr smi g — ek biLb

(2) WBerE_r Slpy — Qednensm

(3) &Gaé - ae

(4) eomarm aumpuigdl gmi - sdellEsnen Caflu s psin
(&) (1) wpged (3) &

(B)
(€
(D)
(E)

(1) wohmub (2) s
(1) whznbd (4) =F
(4) whpb (3) s

cilenL Gleflwehldema

31 GST2AM2026
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34. Match the following :

(a)
(b)
(c)
(d)

Madras Medical School
Madras Presidency College
Madras Christian College
Pachayappas College

(@) (b) (e} (d)

A B " 1 4 3
@z 4 1 3
{C) 2 4 3 1
(o 4 3 2 1
(E) Answer not known
leraumesamsumanmiy GQummbs s
(a) Queirrety wimsEels Liatef]

(b)
(c)
(d)

(A)
(B)
(C)
(D)
(E)

Gl g GrdQend) mehapnil
G e &bieumeud sdgu

udenscinet Sdgurfl

(a) () (o) (d)

2 1 4 3
a8 4 3 3
2 4 3 1
4 3 2 1
e sl weidame

GST2AM/2026 32

e W =

e pe

1837
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35. Who among the following was appointed as the Zamindar of
Ramnad by East India Company in the place of Muthu Ramalinga

Sethupathi?
M Mangaleswari Nachiyar

(B) Maruthu Pandiyar

(C) Raja Udaivappa Sethupathi

(D) Raghunatha Sethupathi I1

(E) Answer not known

Epcamaisaila  amyrodins Ceguflss vfors dyss Bidw
sbhEueflwmd rmosriyer mibdargmrms Fluuissuc el wrk?
(A)  whisCasoeuf prafwmd

(B) wm@ wremewi

(C) g 2en i Cogyud

(D) @Erer_mb pepns Gegiud

(E) eflen Qgfiichdena

= 33 GST2AM/2025
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36. Read the following Assertion and Reason and choose the correct
answer from the code given below,

Assertion [A] : Anwar—ud-Din, the Nawab of Carnatic sent an

army to fight against the French in 1746.

Reason [R] :  Dupleix, the French Governor, failed to keep the

promise of surrendering Madras to Nawab after
its recapture.

Code :

(A)

[A] is true but [R] is false

(B¥" Both [A] and [R] are true and [R] is the correct explanation

(€
(D)

(E)

of [A]
|A] 1= false but [R] is true

Both [A] and [R] are true but [R] is not the correct explanation
of [A]

Answer not known

Hereuqpid  spenmuyh, snrembengub LS E{Eg GlanBEsciu_(Hehar
Ehld wsilimha sfurer uflenad Carklafssanh.

s nifwrar sapg [A] @ siprosrefler EeuL] BT B i = g8en

Grgssbarrismer efiiggt Curfle 17464 e
LenLeny <Sigp (il e,

smyeanih [R] : Golgre ensluhplulL GnE vens peumindiih

gluen OGuedr  eerp  ens@m@ewn  GQngs
saufenit BleanGeunng sanfafc L,

LI

(A)
(B)

(C)
(1)

(E)

[A] & ey [R] seum

[A] Db [R] @awius =M, CGognos [R] eang [Alée sfwrar
T ES LD

[A] seumy spermey [R] &M

[A] wipn [R] @resiin af, semsd [R] eeum [Aldr sflwmen
elardad syeha

aflenL Glaflwiellidoans

GST2AM/2025 ' 84 . o



37.

Match the constitutional amendments to their corresponding aects
correctly,
Amendment Subject matter
(a) 91= Amendment Act 1. The council of Ministers must
contain no more than 15% of the
Lok Sabha members, including the
Prime Minister
(b) 10204 Amendment Aet 2. Women are given one-third of all
seats in the Lok Sabha
(€) 105" Amendment Act 3. It grants constitutional status to
the National Commission for
Backward classes
(d) 106" Amendment Act 4. The state government is empowered
again to identify and specifv socially
and economically backward classes
(@ M) (© @
(A) 1 4 2 3
B) 2 i E. &
(©) 4 AR 2
1 o 4 2
(E) Answer not known

srfluemonys  dmgstismar oeubdler GEmofyeiw o Smiss
FUL_BISEHL6F SRwIms ol Limms gt

SimEs1D GlummerL &S50
(a) 9lmyes fmsss s b 1. s@wssiser (& (1pahia g
UL wssameas  epudlarsatid

15 aflqpssnfss Gud Fméssssm. g
(b) 102805 frssé slb 2. vésawmanisd OJudnsEnss apsmbld
e gE LIfiE @) mkise mg_mr!u@mj%@m
(¢} 106syeim Simsss sb 3. @y Shu@SsOUl L s Searmésmean
w %mmm‘&fﬂ rFareniniLsb
SemHlenean aul @,ﬁm@

(d) 1066 FelLb 4, sus Lobmth IR ETTE TTEH
eug Hrds ﬁﬁrﬁmau

R

G‘I auml Demend et
; th oo Sk,
L e e
@y @® (& (@)
(A 1 ¥ ‘3% . &
(B) 2 1 3 4
(Cy 4 1 3 2
D) 1 g 4 -8
(E) eflen Gsflueiidama
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38. Which of the following statements is true about World Tamil
Maspora Day? '

(i)
(i1)

(1ii)

v

(B)
(€)
()
(E)

The Chief Minister of Tamil Nadu declared January 12 as
World Tamil Diaspora Day

The Diaspora Tamils conference was successfully held, with
the theme of ‘we will win’

Rs. 6 erore has been sanctioned for the establishment of Tamil
Parapurai Kazhagam to teach Tamil to Tamils living in foreign
countries.

(i) only

(1) and (1i1) only

(i) and (i1) only

(1) and (n1) only
Answer not known

e asg sullh yad@uwt prer upflu Qe sppsaid o o e

(i)

(A)
(B)
(©
(D
(E)

gilflps gpzamnsst seutssr merafl 123 eas LabBuut sdlph
Senons ylelgsmt.

mrd QesdGamy’ aenn smOGlummETLes yebGuwut gllprsdr oG
HApviuns pen_Gupos. '

Gawliprpaeiao argl sllprsgniasd sl splss sMpo Uiy
sl senoiugshE @. 5 Gamy aasdh Geaiwiul Heeng.

(1) G

(1) whpbd (1) wi @

(i) wdhgbd (11) wi Hib

(1) wppub (iii) we @

affen Glgflueldenw
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39, Which of the following ia correctly paired?

]

(1) Manjusha Kanwar

(2) Vineet Kumar Sharma

(3) Kavitha Selvaraj
(4) R. Vaishali

(A) (2) and (4) are correct
vﬁB‘r (1) and (3) are correct
(C) (3) and (4} are correct
(D) (1) and (2) are correct

(E) Answer not known

—  Badminton
- Chess
— Kabadd: -

—  Hockey

&ipsQanfssi i L aipgyer Qurngswrer Gaeraus CaitbsEssab.

(1)  wgimast sema
@) efafgeom ayion
(3) aelsr Gledarmg

(4) R. socuagmsll

(A)  (2) wpmin (4) &l
B) (1) wpmb (3) A
(C) (3) wpgw (4) &
(D) (1) wpgd (2) &
(E) e Gpfudidea

En@E0 uhgnl b
T TaELD
Hiiig

am
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40. Match the following :

Schemes Beneficiaries
(a) Naan Mudalvan 1. Public Grievances gets resolved
(b} Pudumai pen 2. Women Empowerment
(c} Vidiyal Payanam d. Education Assistance for Girl
Students

(d) Makkaludan Mudhalvar 4, Skill Development

fa) (b (& (d)
(A) 3 4 1

2
JBT 4 3 2 1
) 1 2 3 4
(D) 4 1 2 3
() Answer not known
QUmmEES.
AL e Lrisenrratl s
(&) mren (psdeasd 1. Qurguwéss mapsdr Baamod
AfrsaluRaug
(b) ysienws Guem 2, Quersgngs aflsmmoeflisd
(c) sfigwe LwemD 3. wremelsiense sdel
£ el g geh
(d) wasEs_dr apsdan 4. dlmpen Guobunp

@ M @© (@
(A) 3 i 1 2
(B) 4 g 2 1
() 1 2 3 4
(D) 4 1 2 3
(E)} eflen Glaflweddbana
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41,

Find out the correct statements about the functions of
Diatrict Collector.

{1} He handles work pertaining to civil defence

(il) He supervises the Municipal Administration in the District

(iii} He presides over the District plan Implementation Committee
(A} (1) and (i1) only

[B} (i1) only

(ii) and (i11) only

J,Bf (1), (1) and (in)

(E)

Answer not known

wieul Ll flufler veflser Ganciuner Epssdm  sppéseticn sflurarsmal

TRl 7

(i)
(i1)

(1ii)

(A)
(B)
(C)
(I
(E)

el Giyaol ungstiys Genoiurer Leflsea GupOsrerSmf.

et S Wi L L ddléb o aTar ESTUL|D Hicunssans
Guo i nivemee il i pmi

el wredl L AL Geuansss  @pelomend  gewsnwGubmn
mglml..ﬁgjdil.m-m‘r

(3) s (i) we 61

(i) wi b

(11) inghgpt (1H1) w0 (Bib

(1), (i) wpged (111)

aflen Eafwehldmea
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42, Select the “odd one” out.

Consider the statements below regarding the advantages of
State Industries Promotion Corporation of Tamil Nadu (SIPCOT)
Lamited.

(A) It creates and maintains well-designed industrial parks

(B) It facilitates the acquisition of land for industrial purposes for

business
(C) It serves as a single point contact for investors

JBT It provides a range of loans and free electricity

(E) Answer not known

saflgs Capuib gearans Gl s,

sflperl wrs Bsmfld paCabns spesden (FHosrs) ;&shmmﬁ Sl EE
EZp 2 dver s fldenssamars Seuafluybisdr,

(A) @z peng ageaosstu’ e Qenidgen yhsrésmar o meairsd
Ligmofédng

(B) Qsmfle Apaemserssis  flogomss ELSIURESuEDE  Els
e geyfing

(C) @m gpsdratsgnis ghapg Gen iyl yaralurss Qeudufdnsg

(D) @& uaCam s_drsenanub, Gaas HdEmbasb aphEans

(E) eflen_ @gflwsiioema

GST2AM/2025 40 =



43,

Assertion [A] : The Chief Minister of Tamil Nadu has ordered

Rs. 5 Crore to translate all works of
Dr.B.RE. Ambedkar.

Eeason [R] :  The translation works of Dr.B.R. Ambedkar into

Tamil will be ecarried out by the Information
Technology and Digital Service Department.

*{{ [A] is true but [R] is false

(B)

(C)
(D)

Both [A] and [R] are true; and [R] is the correct explanation
of [A]
[A] 1s false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A] i8 correct

(E) Answer not known

spm [A] D ebGugsfldn samangg van isenemuih Gomdlbuwrss
. O Gang eupis sblps (pedeut o SEmedll Heranm.

smremih [R] | gead Ganfled miod whnd gglccd Creasusdr geap
fpauLh bGugsfler LIgnL LT iflyfd
CQuemflduwréEsiu e drarg.

(A) app [A] &f, samed sryamb [R] saig

(B)

(C)
(D)

(E)

s [A]l whpbd smamd [R] @oesfiec &7 woppe  smemb
[R], [A] snpiids sfiwner efonssn

samp A seug, srremt [R] &6

smpp [A] wogd smene [R] @reskin sf,  mend srpemb
[R], [A] snpmides sflwren elendsinda adrug sHumang

aflen Gafwelldana
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44. The power of the muniecipality to suspend {(or) abolish tax is

conferred by
(&) Section - 110
(B) Section - 111
ﬂ Section — 112
(I Section - 113
(E) Answer not known
g wlew (ssbar mwegy FppdacssCaur psqmiflag sfamb
cuprisgin #L Sl aurang
(A) Gfey—110
(B) @fley—111
(C) Gifley — 112
M @fe— 113

(E)} elen Gaflwelldama

GST2AM/2025 42 —



45,

]

Assertion [A] : A secretary should be immersed mn files and
burdened with routine
Reason [R] : It is essential that he should have time to grasp
the overall picture, size up the problems facing
the Government
(A) [A] iz true but [R] is falze
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A]
W€ [A] is false, [R] is true
(I2} Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct
(E) Answer not known
sahm [A] g Gewearart  Gandiyseld  subts  wbpd  sim
QU|pESHDTET FenwwinEah Emds Geudn(pib. '
gnpaend [R] @ syrerhissfean gl QCwrss sr fsearuybd, afilamdiasb
Urésenensaanyln  Serelleugshem S mEE  &tab
BlmUug seudluib
(A)  [A] &l spemd [R] gauy
(B) [A] g [R] @osn@ub #M: oggb [A] & [R] sfwurar eflenssinnsiz
(€ [A] peug. [R] &
(D [A] wimud [B] @ree@o s, garmd [A] &g [R] sfwrar ablendsindn
ererLg il
(E) eflen Qeflwefidana
43 GST2ZAM/2025
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46. Arrange the following committees in chronological order,

(1) G.V.K. Rao committee
(2) Ashok mehta committee
(3) Balwantrai Mehta committee

(4) TL.M. Singhvi committee

A (2,3, 1), @
HAS ), @, 0, @
© @, 3,0,
D) (1), (4), (2), (3)

(E) Answer not known

Semeu i pssenar staafias iy aifleasiLifsms.
(L) GV.K. reu g

(2) ®Bsmk Cudsn @

(3)  veeussymi Gussn Gw

(4) L.M. Akl mop

(4) (), @), ), (9
(B) (3), (2), (1), (4)
(C) (4), (3), (1), (2)
(D) (1), (4), (2), (3)
(E) ele Csfuaildema
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47.

Choose the correct answer :

Which of the following statements are true about the Couneil of
Minmister's in State?

(3

(ii)
(i1i)
(A)

()
(E)

The Council of Ministers shall be collectively responsible to the
State Legislative Assembly

The Governor shall administer the oath of office and secrecy to
a Minister

The salaries and allowances of State Ministers shall be
determined by the Union Legislature

(i) only correct vrﬂ;u' (i) and (ii) only correct
(i1) and (iii) only correct (D)) (1) and (iii) only correct
Answer not known

sflwran el mug Caray Dol

Geneumd aurdduhsefie wifle a@okstad ufflu sflune spsaas
Caiay i,

(i)

(11)

(iii)

(4)
(C)
(E)

wrbles  epwhstsdr  wmfles sle wdpidies el Lral
el Limmyc e e gl

Lmr;EIm HHDLLFFTEIGREF, SISHIT Bie it @l;rﬁﬂu &ML} WDDmLD ug.@ﬁlu
Smorewd bledg ansuCiLint

wrfler Sewssrzdflar dsadlamsd sgamssdr oombd Gp Lgsaer
ingdh LirgmignwnerpGn Sromarfl b

(1) i {Hub s (B) (1) opmb (11) &
(11) whmub (111) &A (D) () whmnd (i) «A
dhlen_ Ggflwclidena
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48, Consider the following statements about the composition of the
House of the people.

JM It shall be composed of not more than 20 representatives from
the Union Territories

(B) It shall be composed of not more than 2 members of the

Anglo-Indian community, nominated by the Prime Minister

(C) It shall be composed of not more than 562 representatives of
the state

(D) The President shall nominate 12 people having special

knowledge in Literature, Science, Art and Social Science.

(E) Answer not known

indmenapedar enwoy opfiu Geveumib sflsmssmar Unds Flurer

dlersagans Gaipdsfesa)b.

(A) Ba gaflu 0 A0 usfseld @mps 20 Grdfdserss Bsroo
Bimés Caisgn(ib

(B) Ea dreomd  Fodssiufn  sedCer-Eifudr  sapasfa
2 e gulaisigsss Wanod Gmrss GasnGib

(©0) B wvifersefd GEris 552 Grdfiflsense damod Emss
Caugm{fiLh

(D) gesdlud, sfcBud, soa womb sups sfaflueld Apiy oo

Gumm 12 mursener @ nsssenae t uflbgenriiums

(E)  flen Qafudlaena

T
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49. Match List-1 with List-II and select the correct answer by using the
codes given below the list.
List — I (Writs) List — II (Literal Meaning)

(a) Habeas Corpus By what authority
{b) Mandamus Tao be certified
(c) Certiorari 4. We command

4

e

(d) Quo Warranto To have the body of
(a) (b) (e (d)

\Hr 4 3 2 1

By 2 4 1 3

) 3 4 1 2

M) 1 £ 8 2

(E) Answer not known

EpGenméstulfeaer  ulgwa I oomd  1-é  edeeamen sfluns
Gunmss&.

i igurey 1 uiciguds 1

[ EE G LITrenemT) (Gpimg. Glomme)

(8) wpt Qereriay §4 1. eaggmsu sed e flaw
GLigmenenT

(b) Grugimsze 8 2. srdnpafivy

LI menesT

(¢) Gpflopan 2pgguh 3. paarlfizd
FE Gupmenemt

(d) ﬁﬁ apenp eflemays 4. @f puer pmiuRSssd
GummenesT

@ M @
(A) 4 3 ~
(B) 2 & 1
() 8 i 1
(D) 1 4 3

(E) &l Ogfludldamea

B BRI L3 =

= 47 GST2AM/2025
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50. Which of the following statements are true?

(i) Parliament is empowered to constitute a High Court for any

Union Territory.

(i) Of all the Union Territores, Delhi does not have a separate

High Court of its own. -

(1i1) Arunachal Pradesh and Mizoram became fullfledged states in

1987,
(A) (ii) and (iii) only (B) (ii) only
(C)y (i) and (ii) only \ﬂf{] (i) and (iii) only .

(E} Answer not known

Hetraumih sebmisetis sl naaesdr dames 7

(i) eps e wahuda Snlsesdbere ewifdodpias s@molughsTer
sglanyHengs Lmgmgs e Glohmetens.

(1) seagm  wealuda  GsshsEmagd,  doddésd  salltw
e wirdSwenpd Fdaea,

(iil) empemrésa GrGsse whpl SSsrno 1987-m4b san® o) erada

Lo mihlen i dermuSiem.
(A) (i) whpo (1) wiGo (B) (ii) wi (b
(C) (1) wpgbd (1) wiHib (D) (1) whmub (111) e Hub

(E) &flan Qafwelldamen

GST2AM/2025 1B —



51. In which of the following cases did the supreme court hold that

“The preamble is an integral part of the Indian Constitution™

(A) Shankari Prasad case (1951)
\}B( LIC of India case (1995)

(C) Indira Nehru Gandhi case (1975)

(D) Maneka Gandhi case (1978)

(E) Answer not known

ehs  apsfld césfudapd “Gide srflueendldr  qpdiguent
orélween ol Gen gurhidlmeants LS eanmy S0y eugphislug 7

(A)  suasdl Spsng aupsE (1951)

(B) e ... aupis (1995)

(C) @aslgr Crs srpd aupds (1975)

(D) Guest srpd cipss (1978)

(E) eflen_ EsfMweilaana
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52. Arrange the following events of PCR in the correct order of

DCCUTTEnce

1. Annealing

2.  Extension

3. Denaturation
4. Gel making
A) 3,4,2,1

) 2.1,3,4

(E) Answer not known

(B) 1,2, 3, 4

B 31,24

Seraumh PCR—e Blsheysemend sflwmar auflenstivig senndseyih.

1. usandupdss
2. alflauengd

3. Quay Gpssa
4. Qg gwrfigsé
(A) 4,4,2,1

€ 2,1,8.4

(E) dlen GWaflwsildena

GSTZAM/2025
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53. Why was the My Scheme Platform introduced by the Government of
India?

(A) To provide online shopping for government products
\9&)/ To allow users to discover eligible government schemes based
on their demography
{C) To give citizens free access to educational resources
(D) To help people apply for government jobs across the country

(E) Answer not known

My Scheme @urﬁ:@mﬁ e @B ypered o flopsliLiBdmLC L g7

(A)  wire swrfloyserds Satenae agmlibib oS

(B) uvweriaér stisafer ofsabsnmams gluaclbd sedurar s
Sl Bisenar et i <siemindloLg

(C) @y nEsEssE sdell cambigaan Easnrs aiipmiEs

(D) 'r_r,.rr@. apapeugih  ooder  mypsnks  Goumasgrsg  eflameamndEEn
LDEE(EMEE & FaySHd

(E) eflen Gafudidena

= 51 GST2AM/2025
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54, Match the following :

(a)
(b)
(c)
(d)

Conjugate vaceine
Toxoid vaceine
Killed vaccine

Attenuated vaccine

(@) (b (o (d)

(AN 3 2 4 1
JIES. 4.1 " B
(©) 4 3 32 1
(D) 1 3 | 2
(E) Answer not known

QummEs s

(a) Qevewn sHLLA

(b) Lmsevmi® sEHLLLS

(¢) Qarésouc L sE LS

(d)

()
(B)
(©)
(D)
()

] I'_Gl_dﬂ!&l'_l_l'_ 5@ | I;L'!ﬂ

(@ Mm @ (@

3 2 4 1
2 4 1 3
4 3 2 1
1 3 4 2
eflan Qgflustldena

GSTZAM/2025
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Polia
Hepatitis-B
Measles

Diphtheria

EeninSerenar aumgin
Ganusn_geu-B
S L hen Lo

tg- L1



a5.

56.

1

/

Which plant was recently genetically engineered to help combat
climate change by absorbing more CO,?

(A) Rice (B) Sova bean
@S Pine Tree (D) Corn

(E) Answer not known

Semcumeuemapmen s1hss sraumb, s CO; o flgsen Anay dr. srafla,
wrdpsEterE GurpmEn aesdlda nrugy wrhnh Gelucul g0

(A)  aflé (B) Csrwr dew

(C) enused D (D) Gswemb

(E) eflen Qi

Grape cell cultures are rich in

(A) Anthoxanthin 'wrﬁnthmyanin

{Cy Pyrethrin (1) Taxol

(E) Answer not known

Sgriens Cladh aueririilles ergy Blenp bsidrarg) 7

(&)  mpCGananpSan (B) pGarsweaflen

(C)  enuGrgten (D) Lrisne

(E) efler Gsfwaidena
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57. Assertion [A] : Acid rain means the presence of acids in rain

water.

Reason [R] . Atmosphere contains oxides of nitrogen and

sulphur produced by combustion of fuels,

(A} [A] is true [R] is false

(B) [A] is false [R] is true

(C)

Both [A] and [R] are false

\93( Both [A] and [R] are true and [R] is correct explanation of [A]

(E)

Answer not known

s [Al P miblanep eerug wenplt fls sufles gdvenowdr

Gomfeus.

srrawmb [B] ¢ erfldungrsenar erfluLgmed sualioar_aib enpLTEgel Wwihmib

(A)
(B)
(C)
()
(E)

ahsssdlen Ssemenfesmer Glandnfdraig,
(A] ft [R] s
[A] geugy [R] &
[A] wppib [R] @rer@Cio sap
[A] whmin [R] @rarfGn #0 [R] edaug [Alés sfunar eflarssh

dilaL Qgfueildanea

GST2ZAM/2025 G4



58,  Which of the following is incorrectly paired?

(1)
(i)
(1ii)
(1v)

Silicone rubber -
Plasticizer -
Laminate =
Filler -

(1) and (iv) only

@( (ii) only

(C)

(D)
(E)

(i) and (iii) only
(ii) and (iv) only

Answer not known

inert to body fluids
make plastics brittle
blend of adhesive and adherend

improve mechanical properties

Herameuarauhila) eg gemrs @ amamss L Berang 7

(i)

(i)

(iif)
{iv)
(A)
(B)
(G
(1)
(E)

HeblGmrer quuf —
(Sar e enss -
Can S Bam —

il kT -

(1) whmd (Iv) wi b
{11) 1 (Rib

(i) g (iii) we G
(i) epged (1v) o Gib

aflan Qsifluisildeana

o d ArarisesLer slenanfiurg
Apdlfeny £ e s Qe

Gfler npmb Gy sefler saoenal
Bupdy L sewe CobUESE

i GST2AM/2025
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59, What is the theme of “World Space Week 20247, celebrated from

October 4tk to 10t 20247

W Space and climate change

(B) Space and energy sustainability
(C) Women in space

(D} The moon : Gateway to the stars

(E) Answer not known

2024, @sGirur 4 ppaa 10 awendorer g aunmmidla abs smisomeiien
i CenL 14 ‘2 s dlartaet ammb 2024 Qorammn Oul g ?

(A) sflarQaaf o sreflea wrhmb

(B) cflar@euaf whpb syuppd Bleonsgdrenn

(C) dilgr@eueafiuiles waafli

(D) Baor: plegdriisafiar cumblen

(E) dflen_ G@sflueioamea
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60. Which of the following are incorrectly paired?

m

(1)
(2)
(3)
(4)

(A)
(B)
(C)

2016
1992
2013
1999

The Rights of Persons with Disabilities Act

National Trust Act
National Food Security Act

Rehabilitation Council Aet

(1) and (3) are incorrect

(1) and {4) are incorrect

(2) and (3) are incorrect

\],Bf (2) and (4) are incorrect

(E) Answer not known

Heraumeuenelhper eraney EeummaEll blummasiac Heraran

(1)
(2)
(3)
(4)

(A
(B}
(C)
(I

(E)

2016
1992
2013
1999

wnipsdpermaiisar o flamosar sl1b
Sadlw DS L ener FLLLD
Gadlu eeamail LUNEISTILE FLLID

Leiaumipa] weinmd &L 1b

(1) whmpib (3) seunraranal

(1) wpgib (4) peprarae

(2) whmpb (3) seuprerana

(2) whmb (4) seuprenare

ehlent @aflweilciana

a7

GSTZAM/Z025
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61. Under POCS0O Act 2012, any person who fails to report an offence to
the police shall be punishable with which of the following?
(A) 1imprisonment upto six months
(B) imprisonment upto one vear and with fine
‘y?f imprisonment upto six months or fine or both
(DY imprisonment upto three months
(E) Answer not known

POCSO soib 20126 £p. afps @b BU@mD @ @hpdang sraus genpuflibh
ysnefldss seuflanmes, (Here meuerauhiflda eTeenme &ei e CiuE a2

(A) B wrsdiad suany Flenp samenen

(B) 1 aume i Slenp sedm_enar whmih SLnmsih

(C) B wngtisd auany Hap o onan sabaig SILTTED Sideg FErsmEin
(D) 3 wngtisen auany Heom sabr_ oo

(B) ol Qpfuclibenss

62. In which year the Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act was passed?

w0 1989 (B) 1987

(C) 1986 (D)) 1985

(E) Answer not known

UL sueneriLBSsOLC L sndlser  whpd  Lprigydlen (i Gulukisa
ShHL) LD erhs spearE Bludminud e g7 :

(A) 1989 (B) 1987

(C) 1986 (D) 1986

(E}  &flen Gsflwetdana

GSTZAM/2025 58 e



63. Assertion [A] : Modern education plaved a erucial rvole in

smashing the chains of social oppression.

Reazon [R] : Lack of education among marginalized pgroups
restricted them to do low oceupations.

(A) [A] is true but [R] is false

W Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A]is false but [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

sahm [Al ;o #ups  gbssopapnte suddlsaa e cufld pfar
searatlapenn apéfu Lk sudladpng.

smpeerd [R] @ prpssouc wasefleolBu  sramroufl  sdeflfidranio
Sjeuaenar grphs emnflasmar Cuoptlemedrars drldmng.

(A)  [A] sf gema [R] gauy
(B) [A] npmn [R] Grew®on sfl, [R] adug [A] Gen sflwman sflardsii

(©) [A] paup sperras [R] &

(D) [A] wpgo [R] EBrarGo sf sperda [R] eremug [Al@er sfwmar
chlandah e

(E) eflanL Glgfwehlbanan

il
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B4, Choose the right matches among types

(1) PMSSY

(2Z) NTEP
(3) NVBEDCP

(4) JSSK

(A) (2) and (3) are correct
M (1) and (3) are correct

(E) Answer not known

Pradhan Mantri Swasthya Suraksha
Yojana (Prime Minmister Health
Protection Programme)

Natwonal Tobaceo Elimination
Programme

National Vector Borne Disease Control
Programme

Janani Shiksha Suraksha Karyvakram

(Mother Education Protection
Programme)

(B} (3) and (4) are correct
(D) (1) and (2) are correct

Eipmatrauhfld ergy sflwrs Cumm b o crens) 2

(1) PMS5Y

(2) NTEP
(3) NVBDCP

(4) JSSK

(A) (2) oomb (3) sflwnarae
(C) (1) wpgd (3) sflwneamea

(E) eflen Gsfiveidaa

GST2ZAM/2025

Pradhan Mantri Swasthya Suraksha
Yojana (Prime Minister Health
Protection Programme)

National Tobacco Elimination
Programme

National Vector Borne Disease Control
Programme

Janani Shiksha Suraksha Karyakram
(Mother Education Protection
Programme)

(B) (3) whmn (4) F#fwrarene

(D} (1) whmd (2) sfiwrearene



65. With reference to ‘Chief Minister's Breakfast Scheme’; consider the

following statements.

(1) This echeme has been started by the Tamil Nadu
(2) It will be implemented in all Primary Schools in the State

(3) This scheme 18 a Pioneer Scheme in India and model for others

to emulate

Select the correect answer using the code given below :

(A) (1) and (2) only (B) (2) and (3) only
,ga’ (1) and (3) only (D) (1), (2) and (3)

(E) Answer not known

‘apsdeuflen sTene o emray S Lbblu @'[E]IJ.L;I_GBH \Sefreu(mit: bl Seasans

Seu el rhma.

(1) @Ens b sflprmged Gerehisci g,

(2) wonhesHandrar BT 5 Qem_&s Ligmertisatig b @&
{dFwieb R Es I (HiD.

(3) @ps Aon @ifurdld g aparGearmy S b oppuh whpersdr
\Heruhmeishe epamomdl fumgin.

£Gp Garpssiu L @il el uwearu@sd sflurer ufae Cambbghissab

(A) (1) wpge (2) i Go (B) (2) wpged (3) e o

(C) (1) ppb (3) wL @b (D) (1), (2) wppd (3)
(E) eflen Gaflwalichenas

: 55 61 GST2AM/2025
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66. What iz/are the primary role/s of the Chief Minister Dashboard in
Tamil Nadu?

(1) To provide tourism statistics
(ii) To monitor government department performance

(iii) To manage health care services

(A) (1) only

{B{ (ii) only

(C) (1) and (11) only
(D) (1) and (111) only

(E) Answer not known

Sl hEr e apgebeut LmenGUTTge apgenaninll LIS erdran
() sppens gepuler yarall deuprisamars simeaus)
(il) =rs mepsdier Beudunfamad sanareaficig

(111) ssnsmyé Ceamaummer Biaudlliug

A) (1) wiEGib
(B) (i) we@w

(© () wopis (i) e G
(D) (ii) wipgns (i) o G

(E} eflen Qaflwehlcoana

GST2AM/2025 62 =



67.

1l

Assertion [A] : The Demographic transition wvaries between

Dhistricts.

Reason [R] : The districts of high economic growth attract
larger population.
(A) [A] is true [R] 1s false
(B) [A] and [R] are true but [R] is not the correct explanation for
[A]
(C) Both [A] and [R] are false
@( Both [A] and [R] are true and [R] is correctly explaining [A]

(B} Answer not known

sabm [A]  wresl L iusaflen_Gu whsem Csnens nmHmD Gmﬂu@.ﬁmg.

smpamnd [R] @ sfls Qummerngny aariéddl GQareme wreul Lbsdr ifs

ndsener wisddnpan,
(A)  [A] & [R] geup
(B) [A] wpyb [R] sf, gyarrd [R] eranig [Aloves alorsmsiime
(€  [A] wpgib [R] @rer@io gem
@) [A] wpoibd [R] s, whpo [R] edug [Alos shurs deasssps

(E) eflen Qsflusidena

63 GST2AM/2025
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68. Which isfare the feature/s of Tamil Nadu Agriculture Budget
aschemes 2022-23 is true?

(1)

(2)

The Chief Minister's dry land development mission targets
irrigation dependent crops

The integrated farming system promotes crop cultivation with

livestock rearing

(3) Traditional paddy varieties are preserved under Nel Javaram
Mi=sion

(A) (1) only (B) (1)and (2) only

@ (2) and (3) only (D) (1) and (3) only

(E) Answer not known

2022-23 b myargpares slpEnE Ceermdmens L Qg S disefen
2 hersafie Hearamearaufila ey 2 smann o

(1)

(2)

(3)

(pgaannksfier sfle fla CGoour @ Euéssd Bilunsend sriks
uulirsener @lassnss Ceram g .

eohdananhs  udreenr gpep LUlF  sTELGULEr  sTdmenL
euaTmianuwh Herem gz

GEer Ggurmoer Fussb  ppawers  urpbufio QEd  stlengsenar
LITGIEmES6

(A) (1) o (B) (1) wpmud (2) wi @b
(C) (2) wpgb (3) vl G (D) (1) wipgud (3) w G
(E) &fec Dsfludideaa
GSTZAM/2025 6 =



69. Tamil Nadu's GSDP gruwth rates were 8.13% in 2022-23 and

(A)

% In 2023-24 at constant prices.

8.18%

G 8.23%

(C)

(D)

(E)

8.28%
8.33%

Answer not known

shbsm wer GSDP aersd aidsh fleaurer dggda 2022-238

8.13% gsayn 2023-24 : Mo ey @mBSS

(A)

(B)

(€)

(D)

(E)

8.18%

8.23%

B.28%

8.33%

chlgn_ g flwetldansy
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T0.  Which of the following is correctly paired?

(1)
(2)
3)
(4)

(A)
(B)
(©)
(D)
(E)

SDMA -
SFDRR -
SDMP -
NEOC -

State Disaster Management Action

Sendai Framework for Disaster Risk Reduction
State Disaster Management Project

National Emergency Operation Committee

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

{1] and {2} are correct THE EXPERT COMMITTEE FOR FINAL DECISION

(2) and {4) are correct B&tsad vaon e, B8 wednsre

SRISAIR e vl (Loein meu S LU, B G

(3) and (4) are correct

(1) and (4) are correct

Answer not known

Epeumeuenaspiles sflurer Blevan erg 7

(1
(2)

(3)
@

(A)
(B)
(C)
(D)
(E)

SDMA - vnfled Gufiei Cuendrand Qeudurd

SFDRER — GufiLfr  sumugess  @eplusbpstear  Gedrimd
&L anioiiL

SDMFP - wnfles GufiLr Guardreang 8. b

NEOC - Ggélu sieusy pLeuigbenss &g

(1) wimd (2) &

(2) whpin (4) &M

(3) whmd (4) &l

(1) wibgun (4) &

eflen Glsflwelldens

GSTZAM2025

66 =



71. Name one of the cyclones which wrecked havoe in Tamil Nadu and

Keorala in the month of November to December 2017.

(E) Answer not known

2017 mpeubut whgw geoulr wrsdiselid sBpErl wHmb Csremmeld

Cupfee ghuREBL soraeiula Quiuen s @0,
(A)  eufigm

(B) qsd

(C)  dlagn

(D) wisn

(E) efle Gafusiiaame

= 67 GST2ZAM/2025
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72. The title of the Brundtland report is

(A)

(B)

Caring for earth

Caring and sharing

\@' Our common future

(D

(E)

Environment - friendly Besource Consumption

Answer not known

dper e’ sydisamsulen senein

(A)

(B)

(C)

(D)

(E)

willaw saalizns deraeaug
seuallgad Glardreusy whmb udicug
Bog Dungeunes erdlisranh

SO UL FMThG euenhiser misHTey

aflen. Glsflwelsena
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73. Match Column-I with Column-IT and select the correct answer using
answer codes :

Column — 1 Colummn — 11

(a) Bioassay organism 1. Vespula germanica
(b) Accumulator species 2.  Palm tree .

(¢) HKeystone species 3.  Woodlice

(d) Exotic species 4., Trout

(a) b @ (@
(A) 2 ST |

B) 3 1 4

,&{})’4 3 )

(D) 3 2 4
(E) Answer not known

- e bD DO

Qrpeaflasl m GpReafmsIl o Gurmsd e s EHSGsman
pweiuBES sfwren dlen ews Carbdghasa)b :

Apheaifiens — I Gp@Eafams - 11
(a) =ofli ugwdumbey e ol feTkse 1. Qeaduyar Agioreidsst
(b) & w Blemised 2,  wenar omb
(c) enweimer Gemmisar 3. wroGuen
(d) swapmn F ek 4.  CQperl Ban
(@ (b (@ (d
1o T I
(B) 3 f * % -8
(C) 4 3 . 1
s 2 4 1
(E) dfen. @sfuciidaa
= 69 GST2AM/2025
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74. Consider the following points about a biosphere reserve?
(a} Itis the largest continuous mangrove area
(b} Tropical semi-evergreen forests
(e} Agrosystems, silviculture, pisciculture and prawn culture

(d) The largest mangal diversity in the world its core area has
been designated as a world heritage site.

This bhinsphere reserve is

(A) Shankou mangrove biosphere reserve
(B) Can Gio mangrove biosphere reserve
(C)  Gulf of mannar biosphere reserve

\J,Bf Sunderbans mangrove bicsphere reserve

(E) Answer not known

o WlrECerer sron@ b updlu deraymt @dlliysenar smbdda Gameam erhs
@ eulitaGarar srodsdim Gumptadpg edag GenbEsHEsey .

(@) Ba ao Bsouluiiv s@ss6ss #5100 Ha ooy

(b) Quiuwedr o meny LS EIDT ST

(c) afleusmu senolusdr, foaflsdst, Baraueritiy, inhmil @i ey

(d) casemeflu HsoGufiu nhsd 2@fu Udamsmo whgb Fsdr
pafu Lgdlsd e as urmbuflu gerons e suenwogs drag,

e r&Cemar smindl b eranLig

(A)  eprrCan sgitifla e ¥i&Csrar smnduib
(B) Geer gflGwr smifler o uitsCamer smcndlih
(C)  wemermi aenerggm e.lliaCarer sriudlib
(D) spsreuer egciyBla o @i&Bamar smidb
(E) &flen Qsfluichlebansy

1
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75. The work of laying Optical Fibre Cables (OFC) was initiated at

village of Kanyakumari District.

(A) Chinnamuttom

(B) Kodimunai

(E) Answer not known

semeslumE T meul L Lb Sgmogfld Sglinae cenuum GsSar

ufis@in vafl Ggrikisiiud Lg.
(A) Hemenap L ib

(B) Q&migapenan

(C) Qg

D) gpggwsEhied

(E) eflen Qpfuchisrenas
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76.  Which of the following is incorrectly paired?

(L
(2)
(3)
(4)

Rivers

Cauvery
Thamirabharani
Vaigail

Vellar

(A) (1) and (3)
(B) (1) and (2)
(C) (3) and (2)

G @ and ()

(E) Answer not known

Tributaries
Amaravathi
Pampar
Pechivar
Mamnjalar

\Sletraimauenauhme el Seupns Blavaarda i Herarears

(1)
(2)
(3)
(4)
()
(B)
(C)
(1)
(E)

[l

sl
smdlrLyed
EELEN S
Qaueramy
(1) wpgubd (3)
(1) whpu (2)
(3) wimn (2)
(3) wipub (4)
sflen Qpfwelidana
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77. Which of the following is incorrectly paired?

(1)
(2)
(3)
(4)

Hindu Religiouzs Endowment Act
The Madras State Aid to Industries Act
Annamalai University established

E N, Ramaswami launch the
Self Respect Movement

.y\‘f (2) and (4) are not correct

(B)
(C)
(1)
(E)

(2) and (3) are not correct
(3) and (4) are not correct
(1) and (4) are not eorrect

Answer not known

\Getreugmeuame e gy Seunms Beanssul Hereng 7

(1)
(2)
(3)
(3)

(A)
(B)
(C)
(D)
(E)

@hg sow spbloaggep sCb

Ghec gran wrfle o seil Gumnd Gigmfidgep #0b
elreTmoena LdEsmaSELSD Hpaiull g
ey, rrosmdl swnlfluras Bussseass
Cambpeil SEmi

(2) whgd (4) sfurerena @dess

(2) whmb (3) sflurereney [ dena

(3) whmn (4) sfwurerens ) deana

(1) wpmud (4) sflunerene: Fdeana

chlen Ggfiweldena

T3

1925
1923
1929
1930

1925
1923
1929
1930
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78. Choose the pillars that support the Hall of Testimony (Saandranmai
Mandabam) ;

(i) Love, Shy

(ify Delay, Tiff

(iti) Dignity, Sky

(iv) Compromise, Truth, Overview
(A) (ii), (1v) are right

(1), (iii), (iv) are right

\yﬂf (i). (iv) are right

(DY (111). (iv) are right
(E) Answer not known

Slgmpueirano eeglh EnLdangd STRED  glersdr amel?  aeTLmES
Hgfay) Glas.

(i) <ZHElTL|, [HmemrLD
(1l) semésb, 9erssn
(1) wrewh, eumerh

(iv) eUyre). ednmw, sadrlarmib

(A) (i), (iv) @b s
(B) (1), (iil), (iv) wLFw oA
(C) (), OV) oL sd /7
(D) (i), (iv) e @b &
(E) &lles AgMuchdeaa
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79, Consider the following and find out the correct
statement/statements,

(a)

(b)

(c)

(d)

(A)
(B)

Evidence of a planned town, warehouse and ring wells are
found in Arikkamedu

The Cheras ruled over Kauveri delta and their capital was
uraiyur

The Chola emblem was the tiger and they 1ssued square copper
coins with images of a tiger

The Sangam Age has its roots in the Bronze Age

(a) 1s correct

(b) 1s correct

4’,@5’ (a) and (c) 18 correct

(D)
(1)

(a), (c) and (d) are correct

Answer not known

Sipdmrgmih sbpsener syrmiibhsy sflune sabhp)/ sbpsesen GsirbdsBHEsa)b.

()
(b)
(c)
(d)

(A)
(B)
(C)
(I
(E)

ol pern, greflws. Simg wppke  eenp  Sarpser
s 1w d sanEe REscd L e

Gepigdr s Gldrr uvedew o d Gesugent. auisefs
FEBETD L DULT DL

Camphsetian Hamamb yall @b Saursdr gl eyqmann Gurhiss sgip

‘angaflamar Qb mremuisanar GeaflulllCrisd

s srad Caudgnsws stasdd Bmis Gaumanng Earumdug

(&) b b sf
(b) i b &M
() wmmib (c) =

(a), () whmb (d) s
afilen Glgflushldema
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80. The effects of Independent Tamil Movement :

(1)

(2)

()
(4)

Tamil Language can maintain its traditional integrity without
the loan words from Englizh and Sanskrit

Reclaiming chaste Tamil's glory that was a pride of the
Sangam Period

Actively opposing the Hindi language
Avoid Hindi and aceept only the English words

0 (1) and (2) correct

(B)
(€)
()
(E)

(1) and (3} correct
(2) and (4) correct
(2) and (3) correct

Answer not known

gafigaiih BusssSen clemara)sdr :

(1)

(2)
(3)
(4)

(A)
(B}
(C)
(D)
()

suaudlmen wpph hde Qomflsafa = galullafiCy G LmE
BlukssdaEsear Bl e

Fhss SN SnAs werids snu sfleaps SO STESD

g Qundl siflsssems wl Bl aftins Gewudufgd

Eind Guomflenw sabfl sgriflagens wl G gbpsGsndrasd
(1) whmib (2) el

(1) whpb (3) =M

(2) whpis (4) =M

(2) wibpib (3) #A

dflen Agfluieildeme
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81. Which of the following statements is/are correct?

(1)
(2)

(3

(A)
(B)
(C)

Meetings of the Justice Party held in English only

Meetings of the Indian National Congress held in Tamil also in
order to attract common people

Dr. Muthulakshmi Reddy was elected as Deputy Speaker of
Legislature in 1927

(1) only correct
(2) only correct

(1) and (2) are correct

\spf (1), (2) and (3) are correct

(E)

Answer not known

Geraumn Gemp@prtmafla ag/jerma sfurarama 7

(1)
(2)

(3)

(A)
(B)
()
D)
(E)

fflsm Aullar s L misd gphfasdla o Hin e bluhme.
@nfuCsfu srdrflar s Lksea, Hung wéseard saHagDENS.
sl fgud BLbsar.

1927 sy sgar( st apsgGaocsd Qrliy sr_Lu_ammﬁﬂm | &m ean
sUMETUETTSE GarpblsHasl L.

(1) i@ sflurens

(2) wifub stlurens

(1) whmd (2) sfwrersne

(1), (2} whmibd (3) sflurerena

aSlenl Glafluctidensy
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82. Who among the following was the collector of Tanjore when

Satyagrahis marched towards Tanjore, against salt law?

(A) K. Santanam

\gﬁf Al Rajan

(C) G. Ramachandran
(1)} Selvi Durgabai
(E)  Answer not known

spPundlyllsar o0F s sl afors  suses Cpnsd DFarnGums

Senaugpuaiflds wirt sesens wnau’ L gy Hugrs Gmbsm 2
(A) & sbmmemibd

(B) &.Cg. grggen

(C) . pmospdren

(D) Qoeell gyramumi

(E}) eflen Qafluciaama
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83. When Madras Mahajana Sabha was started?

1]

(A) May 17, 1584

(B) May 26, 1884
.J,G)/ May 16, 1884

{D}. May 6, 1884

(E) Answer not known

Glsehenen wangen sy UGUNg EsTURISILCLE?
(A) G 17, 1854

(B) Guw 26, 1884

(C) Guw 16, 1884

(D) Guw 6, 1884

(E) &flen Raflushidaa

79
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84.  Arrange the following Tamil Scholars in chronological order :
(1) Mayooram Vedanayagam Pillai
(2) Vedanavagam Sastriar
(3) Thanjavur Abraham Pandithar
(4) H.A. Krishnapillai

(A} (1), (2), (4), (3)
B) (@), (1), (3), (4)

W @, 0, @, @

(D) (3), (D, (2), (1)

(E) Answer not known

\Weneumd sulpflertaemen aroapemiiung. e flenelLiBse s,
(1)  wrymb Caugprusnh Gdraar

(2) Geugmmus smeudifiuimg

(3)  sepes gy lpsrid Lemgst

(4) erka. SimeivennSerener

(A} (1), (2), (4), (3)
(B) (2), (1), (3), (4)
(C) (2), (1), (4), (3)
(D) (@), (4, (2), (1)

(E) eflen_ Ggflwsildana
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85.

Which of the following statements is/are true regarding the Treaty
of Bassein (1802)7
(i) The Treaty of Bassein was signed between Peshwa Baji Rao 1l
and the British.
(i1) Peshwa agreed to cede in perpetuity to the company territories
vielding an income of 26 lakhs rupees.
(i11) Peshwa agreed tl} surrender the city of surat to companies.
(A) (i) only
(B) (1) and (iii) only
(C) (1) and (1) only
WPr (), (i) and (i)
(E) Answer not known
Cufler o Lenugsas (1802) Qzm fumen Geranmb sppselld o eemea
Sl merg ( #FL mananay
i) Cuflenr wodugses Cudger [Erenmbd  umgllorés  whmub
2 Cawymse el ulld eabhugpsanang.
(i) OGueseur 26 wlsb mumi eymorerh gEb GTGssramas sbdualses
Blrpsuns A HisdsrfsEs gousbsmsmmf.
(iil) Cuepaun @rs pesand sb@uaiill b goue. ss glys dsrer .
&) (@) wipo
"(B) () whpe (1i1) o @o
(C) (1) whpd (1) @i
(D) (), (ii) whpas (1)
(E) afflen gl aldanay
81 GST2ZAMM2025
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86. V.N. Gadgil committee on policy and programmes was constituted in

the yvear
(A) 1978

(B) 1980
(C) 1982

4.9( 1988

(E) Answer not known

Camdrans whpn Hlin Gsmiduns V.N. sridd oy eganssiioc

=S e (i)

(A) 1978
(B) 1980
(Cy 1982
(D) 1988

() &flac Qsflusdama
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879, Choose the correct matches among the types.

Organisation Articles
(1) Parhament — 124 to 147
(2) The Union Judiciary — Ttp 122

(3) Directive Principles of State Policy — 36 to 51
(4) Public Service Commission —  B16ta 823

{(A) (1) and (3) are correct

(B) (1) and (2) are correct
(C) (2) and (3) are correct
\,ﬁﬂf (3) and (4) are correct

(IZ) Answer not known

Eipssamsubhbie #Mlumen Dummessenss seamfls,

=2 DLOLI LSt el & st
(1)  wmgmigywermb — 124 ppae 147
(2) genflu E8smen — T wpsa 122
(3)  wrs auflen it Gedlopennd Csecunf — 36 wpaa 51
(4) s verflwrert Ggiaurermwih +— 315 gpgar 323

(A) (1) wpgub (3) 5
(B) (1) wppus (2) s
(C)  (2) wpgnd (3) &0
(D) (3) whmub (4) =R
(E) &flen GQsflueicenc

= B3 GST2ZAM/2025
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88. People in Tamil Nadu Greets Chief Minister as “Thayumanavar®
(Man who becomes Mother) for the introduction of the scheme,
(A) Breakfast in schools
(B) Vidiyal Payana Thittam
(C) Neengal Nalama
(D) Makaludan Mudalvar
(E) Answer not known
s u®, BedLges ofpstiufsfuspars, promoisemy, wssd
“Smorerean’t” erenl <wenpddladnnart,

(A) wdraflfe srane o ey

(B) eflywd vwenrs b
THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION
auRasn el (O smeu S LILIL. B ETaTE).

(C)  FBruser maon

(D) wasendn apgeut

(E) eflen QgRussflchenss
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89. Which of the following statements are true about Athikadavu -
Avinashi project? j

1]

(1)
(1)
(£i1)
(A)

(B)

e

(D)
(E)

Coimbatore, Tirupur and Erode Iistricts are the beneficiaries
of this project.

This project proposes to take 1.5 TMC of surplus water from
the Kalingarayan anicut in Erode Distriet.

This project was implemented at a cost of 2456 41 crores and
irrigate 28,464 acres of farmland_s in these districts.

(1) only

(i) and (iii) only
(i) and (ii) only
(ii) and (i11) only

Answer not known

SiFSEs_a)-seflenndl o b Gariiumen Spbsen sppésgndt aea
&l maTena 7

(1)
(i)

(i11)

(A)
(B)
()
)
(E)

Camuppssnt, Ayt whgd FGrrE ored disdr GESC Ssmé

Lieoaen Ll emer.

FOrmH wret L fld o drar sratmarmued senemubelimbg 1.5 g erb. &
o ufl fauy @EEC L gHDsns a@Es 2 GEsslsa000 LEl.

@ed L 2456.41  Gamy  wdodlgd  GeuauBisouc (.,
GuhEHuG L wiml o hssfar 28,464 gast flaks@nssl urser Bi
QB &S DS

(1) (G

(1) wbmub (1i1) i FHib

(1) whgd (11) Wi E

(i1) whmud (1i1) we G

shlen, @Bgfwelldana
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90. “Neengal Nalama” - is the scheme inaugurated by the Government

of Tamil Nadu,

(A) Intended to reduce the gap between the people and
Government

(B) Itis made up of an instrument of e-governance

(C) It focuses on ensuring that government initiatives reach the

intended beneficiaries

J#T Al of these

(E) Answer not known

SUONETH SrEnd greukaliul Feer ‘Briser panor eremgnib ,ﬂl'_I_L:DITE;'ﬁ,I

(A) inds@rsgh - spsrtisgfhed  Be Cwuurer FeGlasflaw
(G DL LG (LD T T & M LD

(B) @sdlsoneng Llen gy emens erenid s(ReSlLING B (meunssliLl L STt

(C) @asfl wreng s urgne S0 ks Eoodl arsesss CHednm
Gerdlnar earm e pEUufisfdame

(D) Eeeuser simenggib

(E) e&flen Qafluwefldanso
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91.

Consider the following statements about ELCOT and choose the
cOTTect answer:

(1)

(11)
(11)

(1v)

ELCOT is registered under the Cooperative society
Registration Act

It 15 partially owned by the Government of Tamil Nadu

It 18 the Nodal Agency for IT and infrastructure development
for the Government of Tamil Nadu

It was established in the year 1977

&~ (iii) and (iv) only correct -

(B)
(C)
(I3)
(E)

(i1) and (ii1) only correct
(i) and (iv) only correct
(i) and (ii) only correct

Answer not known

sllppr® Laergn sps fpeesder (ELCOT) Spsdne spmsefen
&g Nnen_uSa sflwrer dflen s Caipbshss.

(1)

GTeam e enin g Fal (e EhIS FLL &dlen L

| RHEUTESELLC L EMEID

(1)
(1i1)

(v}

(A)
(B)
(C)
(D)
(E)

Ematr Lemdluera), gllps sk Genhsioen g b

gllips  srsmassder saaud Gempdmlub  whmb SiE  STES
£ g’ e suentréfbarean Sl Flpeuerh

Eidpeuent 1977 ayb e[l e paunssliue L gmgEb

(111) whgbd (V) wiGib sflureng
(ii) whged (111) wi @b sflwreang
(1) wppud (V) 1w b Fwrers
(i) whmb (1) 1 Gub sfwirang
eflant @gflLehldana
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92. iTNT Hub 1z located at

JA{ Anna University

(B) Madras University
(C) Vellore Institute of Technology
(D) Madurai University

(E) Answer not known

1TNT aps ————— senwdgidreng.
{:;‘31} AT LIS SEene &S palh
(B) Gedmmar ubsaiasspsid

(C)  Ceugnt Gamfléme 1 fmeuans
(D} LD @ LIEEan a0 &L

(B} &flen Qafwelldemea

GSTZAM/2025 BS
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03.

Matech correctly the evolution of district administration with their

corresponding yvear.
(a) Royal commission on decentralization 1.

(b) The Indian statutory commission 2.

(¢} The Bengal local self-Government Act 3.

{(d) The office of the collector 4,

(@) () (© (d)

¢y 4 1 8
® 4 ‘2 1 38
T & 3 B
E A B

(E) Answer not known

1772
1885
1909
1927

el ffeursgfler  oflerme  eertdfloow  meupmdr  Gsmofeus

et ELn #flurs GUrESsa D @

(a) wflsmy upaimmhsh 1.
Barar rmud sysnemnuih

(h) @Edw s qpenD SpenenmuLD 2,
(¢) eumimrer e dvgani suw St & L0 3.
(d) wreul L sy Agsamaal giaiash 4,

@ ® @

(A) 2 4 1 3
(B) 4 P! 1 3
() 1 4 3 o
(D) 3 4 2 1

(E) dllen Ggflwefidana

29

1772

1586
1909
1927

GET2AM/2025
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94. Identify the correct statement about the State Disaster
Management Authority of TamilNadu

'l[i] It is responsible for coordinating the response to disasters and
reducing risks

(11) The chief secretary act as the chairperson for monitoring the
disaster management activities in the state

(i1} When approving the state disaster management plan, the state
cabinet follows the guidelines provided by the National
Disaster Management Authority

‘ﬁf (1) only (B) (i) and (iii) only
(C) (i) and (ii) only (D) (i1) and (iii) only

(E) Answer not known

SOPEIE wifle Guil s Guoargrar marub upiiu sfurar sHpsas
SelrL_fhlz.

(i)  Gurfessren  afidmasma gridoangs,  SUNULS@ETS
Genplughe Ba Hummiiy

(i) plpagfa GuiLh Cuoandran Cawudur@sments Sedrsrassb
genauainnad saaennd Clewamerh Clewdu i pnt

(ill) wrfle GuAlr Gueansmens Sl g8ibe puusd eflsmb Gurg,
Gaéw GufiLs Goardmenn gemewnuibd epiidly s Higdsma
wriles sepndsrenal Serupndng

(A) () oG (B) (1) wppi (Hi) w @i
(C) () ohme (1) w' G (D) (i) whged (111) wr G
(E) &flan Qefuweilcama

mm
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95. Which one does not include in three-tier system of loecal

Government”

(A) Panchayat Samiti
.(B/ Grama Sabha

(C) Gram Panchayat
(D) Zila parishad

(E) Answer not known

ppemmbiss odrarr £ myannliy apanpiild Cotdsliu 1S annciy e ?
(A} ugsemugm w08

(B) &ipmo senu

(C) Armon ugrEnugs

(D) @aear ulﬂﬁspi..

(E) efien Glafuaeana

+ . 91 GET2ZAM/2025
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96. Which of the following is correctly paired?

(1)
(2)
(3)
(4)

(A)
(B)

C. Rajagopalachari
B.P. Mandal
Morarji Desai

C.N. Annadurai

(1) and (3) are correct

(1) and (2) are correct

M (2) and (3} are correct
(D) (1) and (4) are correct

(E)

Answer not known

Legislative Assembly
Legislative Couneil
Legislative Couneil
Legislative Council

Hemeumevameul bl ag sHILINS [@)onermds L [Hlererg ?

(1)
(2)
(3)
(4)

(A)
(B)
(C)

(D)
(E)

& mrgGaruramsamil
i (9. sl
Gorpriedl Bgami

F|.GTET. 80T Tl n T

{1) Loy Ly (3} aflwrenansy
(1) wimb (2) sfluraranal

() Lo Hmith (3) sflwrarans

(1} whmib (4) #fwrerene

aflen . Qsfwehdeana

GET2AM/2025
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97. Match the following and choose the correct option given below.

Union Minister Function
category
{a) Cabinet Minister 1. Does not work under a Cabinet
Minister
(b) Minister of state ~ 2. Pretend and participates in every
with independent meeting of the cabinet

charge
(c) Minister of state 3. Works under a Cabinet Mimster

(d) Deputy Minister 4. Does not have independent charge of
any department

(@ G @©

w2 1 4
B g, 4 1
© 4 8 2
™1 2 3

(E) Answer not known

Lo e

Epssner L Hid UL g Ldsemar Gurpsds sfune dla_smug Gafay Qals,

wESW Sjanse Lofl
GLEHE
(a) memwsslr @ 1. f@eui @Egnggris  sewsFder  Spo et
ifhwom e mir
(M) safl Garssrapow 2.  SEabg Swssjed miULSHan SaES
g SjanindEh Gerarl uiig Gup GeuanHb
(c) wsHu senwish 3. gwi Ergnius sewsst S0 uefl Ll
'..DEJ'EHT'[E}LD
(d) Eeesr manwbsi 4. @eaumsEs safl FPersraeiil  HEDSET
GEEs0LL DML g

(@ (b () ()

(A) 2 -4 5
(B 3 4 1 2
4 3 2 1
D) 1 2 3 4
(E) sfen_ Qafiusfiaama
- 93 GST2AM/2025
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88. Choose the incorrect one from the given helow.

(1)

(2)

(3]

(4)

(A)

(C)
(E)

Fundamental freedoms guaranteed by Article 19 are
automatically suspended during emergency.

The President has the power to suspend few rights under

Article 359,

Some of the fundamental rights are available only to citizen of
India,

The Parliament has power to grant fundamental rights to
persons serving in the armed forces.

(1) only (B) (2) only

(3) only .&D’l’ (4) only

Answer not known

Epasan_aupmer saupnas geranpd Cara) Gediueayh

(1)

(2)

(3)
(4)

(A)
(C)
(E)

Srseawiy &ff 19 gand egdransd seflbsiul  egtum
eflmusdr  soesmn  Cpnésy fHow s ragddr  sraTnsGe.
Blen_fimdsLHin.

Srsennty  oflfl  369-8p Aa  eflousoa Beflmss
SR UTHSSMaUe &S s o derg.

dla e Menwnser EBfL Eywosgydes wo HEn den_&Eih

Brremeaidd vaflumhpib ButsEEsE s liuel & Aeansenar auUpIE
ELmighoenmgglh codlmmyin o eeng.

(1) wi @b (B} (2) wepuw
(3) i Gub (D) (4) o Gw
shlem Dgfluelldhene
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99, Assertion [A] : An autonomous sub-state called Meghalaya was

hl

established within the state of Asgsam by the
Assam Reorganisation (Meghalaya) Act 1969,

Reason [R] . The state executive and legislature can alter or

redistribute the territories of the units of the
federation if they so desire.

\m’ (A] is true but [R] is false

Both [A] and [R] are true; and [R] is the curre::t explanation
of [A]

(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct
(E) Answer not known
seim [A ¢ aemb wnifrenwiiy (Guamawm) b 1969 apesih e
wiflogdhEda Cosrawn aamn saen’ A gean worfab
Hmeuliud Lg).
spaent [R] @ oofle oy Asgenp  opmped sl Lmdnmhd el hbdanmd
sl Lennlnfer sagsallean Halugdew  wrhpembd
Sreg wnjLdlie) Gednusomb.
(&) [A] #fl sgpearmao [R] seugy
By [A] wpgs [R] @ran@o o wobgo [R], [Alsster  sflure
chilgmiminmLb
(€) [A] pougy [R] &l
(D) [A] womd [R] Grempn s, syene [R], [Alssrer  sflunar
sHerdsnee aramug &
(B) cflen Qsflweidena

a5 GST2AM/2025
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100. Which of the following statements are correct with respect to

“Objective resolution” of the Indian Constitution?

(1)
(2)

(3)

(4)

(A)
(C)
(E)

The author of this resolution was Dr.B.R. Ambedkar

It was adopted by the constituent assembly on
January 22, 1947,

The goal of this resolution was to declare India as a sovereign,
Socialist, Democratic Republic.

This resolution was later framed as the preamble of the Indian
Constitution,

(1) and (3) \.ﬂ!'i/ (2) and (4)
(1) and (4) (D} (1) and (2)

Answer not known

Erfu  srfluwenlfda  “EHlsGerd Erorent” @Em_iums \Slebreuimin
safpmisetics ergy aflumarg, o

(1) @iss Srorergens epdweat Dr.B.R. subGuiss.

(2) @g geafl 22, 1947 sy srfus Hfemy  seuwnd s
CameramiLC L g,

(3) Etdurea Eeowrsraougter, Gsrscls, GEEMLUSE (LTS
=il iuGs Gafiuragden milsGararmgb.

(4)  @pfrorand  Herert  Ghfu  srdueewoda  psa@pune
i 66 LD LI L.

(A) (1) wpgo (3) (B) (2) whpus (4)

(€ (1) wogie (4) (D) (1) wipe (2)

(E) dilan. Bafludidaa
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LGS - — Curg peranle) LHDID LGSSHIe,

Part-B — General Intelligence and Reasoning

elerngmser : 101-140
Questions : 101-140

101.

102.

Choose the best alternative as the answer.
A factory always has
(A) Electricity (B) Chimney
./ﬂ“]} Workers (D) Files
(E} Answer not known
Blsssfiuner wipm dlen amws Ceiey Hans.
@ Ggmdiderenandld erlbumpsib Bomoug
{(A) Bersrmb (B) uensCuinsd
(C)  damfemeniser (DY Csntiysdr
(B} sfleni (il et elvamran
The total number of digits used in numbering the pages of a book
having 366 pages is
(A) 732 VB 990
(C) 1098 (D) 1205
(E) Answer not known
366 ussmadr Camdnl g ussssdldar  wbstisea  aawgpendd
vwerLpgauih dungs Easshsatear aarefiias adeara?
(A) 732 (B) 990
(Cy 1098 (D) 1305
(E)  aflan GQaflwiehldoena
87 GSTZAM/2025
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103. 6= F2*KST6#$PLVS@MUEG6TQG93&TY

Which of the following is exactly in the middle of ninth from left end

and fifteenth from right end in the above arrangement?

(A) #
A s
(cy P
(D) L
(E)} Answer not known
Guiuppfldists pausreagy aoiupsSdmps Lfeebsragy, G
Bragpisih whHuel o drang am o
d=AF2*KST5#8PLVS@aMUE6STQGA3&TY
(A) #
(B) &
(C) P

Dy L

(E)  eflen GlgMusehldena
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104. A dog runs 50 feet towards South and turns to left runs 20 feet and
turns to left runs 7 feet and again turns to left runs 6 feet and then
turns to right runs 15 feet and finally turns to right and runs 5 feet.
Now which direction is the dog facing?

V(-‘JL} East (B) North
(C) South (D) West
(E) Amnswer not known
o pruray Gspe Hes Gpréd 50 s gid geu dpg @ug upd
Al 20 @ig grnb gEEps far@od BLa upb Srbd T s gmb gru
Une, g ud SEwd 6 s gind gfdpg. Banfib ang Lpd Sebd
15 iy gard uuw Sps Bodurs weg ypb Smbd 5 om gme efdpa.
shGung bs prd ehs Heor Gursd Gmdmb
(A)  Hpds (B) e
(C) Gspe (D) Gupe
(E) sflen Qafhwshldena

105. If A is 50 m north east of B, B i3 50 m north west of C, then C is in

which direction of A?
{A} North (B) North west
v{(:) South (D) South west
(E) Answer not known
A spars B 4 e dpss fasdd 50 S gnpdgt B mam C &5
a Cuhe HAeslla 50 8 gipsBgny GEober, A &g apz Hesla
C Blmdgns
(A)  sulé@ (B) e Guhe
(C) Gsps (D) QserGiohes
(E) sfen_ Gaflwusiidena
;s 99 GST2AM/2025
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106, Seven executives P, Q, R, S, T, U and W reach office in a particular
sequence. U reaches immediately before P but does not immediately
follow 5. R is the last one to reach office. T follows immediately after
P and is subsequently followed by W. Who ranks fourth in the

sequence of reaching office?
A) W

B) U
€ T

v v

(E) Answer not known

gip frerdlzsr P, Q, R, 5 T, U vpge W siodce aflassulid
Sgpeasias e fapet. U, P-ss wa sLengurs Gsanpen, Spmi,
Sy ETTeD 8-t e amquirs’  GarQgm gefldma. R smir sa fluns
Sigeiwsiens e dlprt. T edruat P-&go Gpg G Qprotdgnt wdmib
W aenuat T-eow Seir Ggmidlenpni. eranfe, pravsrasis Sgaassas

BjEm L EHEUT Wi 2

(A) W

(B) U

s T

(D) P

(B) ol Qsfucideana
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107. According to a code language, words in capital letters in Column I
are written in small letters in Column II. The letters in Column II
are jumbled up. Decode the language and choose the correct code for
the word given as questions.

Colufinn 1 Column II
(i) CROWDY (a) blooppv
() SOUND (b} jkegotv

(iii) CRUX (c) ijktv
(ivi CRONY (d) 1kmop
(v) NET (e) cjmv
(vi) ADDRESS (f ab
Find the code for NEET
(A) abbi (B) baai

(C) hiia V‘D] ibba

(E) Answer not known '

S E Qomflany déemb Caddsgrsen ufledlés ddamb
peaenal Ugpdsab, Column | §é eder GQufiu euwgdld eder Qerhss

Column IT @a ffw eywsfe eppsoun feweg. Column 1T G e s
FipsgiEdT senabs Eoenssuulfererg.  Gongleu  glsml dalg,
GerResiulL. Ceerallssrar sflumer @dlufi eng Geridshissa)b.

Columnl ~ Column IT
(i) CROWDY (a) blooppv
: () SOUND (b) jkgotv

(iti) CRUX (c) djktv
(iv) CRONY (d}y ikmop
(v) NET () c¢jmv

(vi) ADDRESS () ah
NEETé@s sflurer @gfif e & sam_flueyh.

(A) abbi (B} baai
(C) biia (1) ibba
(E) dfleo Glgfwelldans

e 101 GST2AM/2025
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108. Choose the number group which is different from others,
(A) 71.7,8,17 (B) 67,71,3.5
(€) 41,5,3,47 v 87,14.19,7

(E) Answer not known

Sipsargnud eansaild CamulL adr e Tupgs.
- (A) T, 7,817 (B) 67,71,3,5
(C) 41,5, 5, 47 (D) 37,14,19, 7

(E) . aflen Ggfilweidaena

109. Choose that set of numbers from the four alternative sets, that is
similar to the given set : (81, 77, 69)
A (56, 52, 44 (B) (64, 61, 59)
(Cy (75,71, 60) (D) (92, 88, 79)

(E) Answer not known

&Gy GarRésiu Garer Ganmousefia, (81, 77, 69) aorgyn Sgmmindhes
Eeamurerengd Eattllsfss |

(A) (56, 52, 44) (B) (64, 61, 53)
(C) (75, 71, 60) (D) (92, 88, 79)

(E) eflen Qaflueiidena

1)
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110, In the following guestions, select a figure from amongst the four
alternatives, which when placed in the blank space fig(X) would

complete the pattern.
AKa

é 2 | X

(B)

v

(A)

()

o] o

55

(E) Answer not known

Saraurh Gadrefllla, préns wripmsefld EBafs eresast GCerpbsbis
auangL b (X)—ulleh e erer GlaupdlSeng Hlyls.

Gl
o o |
C

JE

(B

(&)

(©) (D)

N

Koy

(E) &flen Qaflieadena

= 103 GST2AM/2025
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111, From the options, choose the correct “water-image” of the fig (X).

(X)

< i
() ;@: (D) @

(E) Answer not known

Seraugpih ellameler, @uw Qubmerer g X)-ar sflure gnfousmss
Cairay Deis.

(%)

(A)

@t

(E) ailen GaMudtdaemen

(B)

¥t
38t

GST2ZAM/2025 104 =



112. Choose from the options the correct mirror image of the given figure.

1l

A
(A) A | (B) é
(€ é () ?

THIS GUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

Bscsadl wmonp olen, ﬂf.'g@. rmmﬂmﬁm
RS ol (o TS LILIL. B ST 8,
GarResiu L L gfledr sflwmen semenriy GibLib srans.

A
™ | /A ® | A
© | A o | Y

(E) eflen Glafwelldena

(E) Answer not known

105 GST2AM/2025
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113. Statement: Smoking is one of those human weaknesses which

tend to test the will power of the smoker to the edge,

Coneclusion: I It is very difficult for the smokers to give up

(&)
(B)
(C)

vb)

(E)

apigay ;

()
(B)
(G
(D)
(E)

smoking even if they want to do so.
II. Human beings have other weaknesses as well,

If only concluzion I follows
If only conclusion II follows
If neither I nor I1 follows

If both | and II follows

Answer not known

Hes  Ggoug  wallgefldr wesband e, sm gl
semer bt Eens Cendldmn.

L uens g ietsghde  setsdr  eflghferanh e
ehilfleug) 1lsab Haqemnb.

II.  wefigrswnse Capy Ao uadamisgsn o (.
apgay I of
apga| [T &M
(g I=b ey [T-b e

cpaey [, II &M

dla Ggfludlbamea
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114. Which word of the options cannot be formed using the letters of the

]

('

following word :

ENDEAVORS
\,Ca'} VOTE

(B) ROSE

(C) END

(D) DONE

(E) Answer not known

Qemaumd Gembsefie 'ENDEAVORS ey Qenadldr epsgsatielmhb

& (Meul&s (P ing G ergt
(A) VOTE

(By ROSE

(C)y END

(D) DONE

(E) sl Gafuaiame

107
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115. These questions are based on the following information :
(i) ‘AxB means ‘A is Mother of B’
(11) ‘A + B means ‘A is Son of B’
In B x.J + P, how iz B related to P?
(A) Mother

(B) Unele

v Wite

(D) Daughter

(E) Answer not known

@k Gadrellad Glamaumb ssudasma Siliu@iLnss Geram_ameal ¢
(i) ‘AxDB aawug ‘A adiug B ¥idr gmi’

(1) ‘A+ B adug ‘A adug B Wer e’

BxdJ+Pa B adaug P- o dr erdieuny Gam e wg?
(A smi

(B) wmon

(C)  wenewall

(D) weaer

(E) fea Qafiushioame
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116. Find out the right option for conclusions to the statements given.
Statements : All candles are lamps
All lamps are bulbs
Conclusions : 1. All candles are bulbs

I1. All bulbs are candles

Vﬁ} Only 1 follows
(By) Only II follows

(C) Both I and II follows
() Neither I nor 11 follows
(E) Answer not known

QerpssturL  Sfldmsselld  uasEstster  sflurer  silmuues
sam_dluab,

sflsmasdr 1 edan Quypsainsdsanh dlmsGadr SEh
erébanrm eflerdgsiann (Slenailars e b

apgaysar ¢ L erder Qupeaidsesh Bensilab@adr g0
1. adwr deasladgsesd Cloupsaisiae 2y b

(A) 1w @o Ger_rbsssg

(B) II wipw Gsm ripsss

(C) I wopmer II Qsmongssss

(D) T wpme I Gzn_gspsssde

(E) eflen Qafluiebldenay

t 109 GST2AM/2025
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117. Find the missing number

() 3
(B) 9
(C) 1

5

(E) Answer not known

slHulL @ gams Brigys

(A) 3
(B) 9
(Cy 1
D) 2

(E) el Quflueiidans
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118. In how many ways a committee consisting of 3 men and 5 women

can be formed from 5 men and 6 women?

(A) 15 (B) 30

JC} 60 (D) 19

(E) Answer not known

5 ayarsar, 6 Quersefialmis 3 asrsdr, b Quansedr dsram_ @ Gipea
aigmer afsaild CerpCsfssamby

»

(A} 15 (B) 30
(C) 60 (I 19
(E) &flan Qﬁﬂuaﬁlﬁm i

119. A box contains 2 white balls, 3 black balls and 4 red balls. In how

]

many ways can 3 balls be drawn from the box, if atleast one black

ball is to be included in the draw?

(A) 82 (B) 48

VO 64 (D) 96

(E) -Answer not known

s Gulgule 2 Qedrener Bp upgsEsh, 3 spoy fp ubssesd 4 fAsoy

fip upEsEnD o drae. G@DEEULHD G SGUY Ubg dardm_ 3 Ubsismen
ahss Cadnf@oealld assman auamssait Saubenn o fi&semi 7

(A4) 32 (B) 48
(C) 64 (D) 96
(B) eflen Qsflwelaama

111 GST2AM/2025
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120. In the given figure (i),(ii) are related to each other. Find the odd one,

i () @ (i) @ G @ ()

B E| |)<g [ X |re| (24|

1 2 3 4

(A) 1
b 2
(C) 3
Dy 4

(E)  Answer not known

&G GarBssiul Gear gearlprGram sbugsiuce (1), (1) ulrsaid
ClurmEsuhD UL Sengs s

@ () ) () @ ) M @
LSRIRE D AL IBE:IE:
1 2 3 4

Ay 1

B 2
(C) 3
(D 4

(B) efle Qsfwaiaema

mn
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121. A piece of ice floats on water.

(A) Often
(B) Sometimes
(C) Never

Vfﬁ] Alwavs

(E) Answer not known

g uellés’ n samatid Wgsdpg.
(A) ogssy

(B) Aa Crrrisafi

(C) F{EEH rgub Hepwirg)

(D) evCumgb

(E) eflen Glaflwalldana

- 113 GST2AM/2025
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122, In a class % of the students are girls and rest are boys. If ; of the
o

girls and % of the boys are absent, which part of the total number of

students 18 present?

@ Y o 1L

25 100
62 50
G e i
© 100 = 100

(E) Answer not known

e aElld e damaursetid g ki@ wremeilsar. S e drerauisd

1
\DTERTEU THEET.  eeuirseatlel E LM, mﬂmﬂglﬂi.[ﬂ,m % Lk L0 T 60T G T 5 L

veefldg eujefldena eaild casuea) Lkig wraraisdt (Boys and Girls)
Liemaflde euhg ememam 7

17 T7
(A) P (B) 150
62 ol
(C) 100 (1) 100

(E} ellen Glgfwstldbama

123. Choose the correct alternative :
ab___ baa ab

(A) aaaaa vfg] aabaa

{(C) aabab (D) baabb
(E) Answer not known

shwmar wrheep Garay Glals.

b .. - bhad ab
(A) aaaaa (B) aabaa
(C) aabab (D) baabb

(E) &len AsMwshldans

GST2AM/2025 114 =



124, Study the diagram below and identify the region representing youth
who are unemployed but not educated.

AVA

Educated

Employed
v‘fg 2 only
6, 7
{G} 2, 5, 8
(D) 5,8

(E) Answer not known

ECp oeten cueuULFangl Uigdg umrﬁg Efa Caemauldarg e
Lk &ETS Baamaismad @iisEd ugdleud adrfluayb.

iz A%A
Gauena e Swimr
(A) 2o
(B) 6 7
(C) 2.5.8
(D 58
(E) eflen Gaflweidane
115 GST2AM/2025
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125. The following guestion is based on a dice numbered 1 to 6 in

different ways as indicated.

If 2 15 opposite to 3 and adjacent to 4 and 6 then which of the
following statements is necessarily true?

(A) 1 is opposite to 5

(B) 4 is opposite to 6

(C) 4isadjacent to 2 and 6

\/ﬁ} 1 iz adjacent to 2 and 3

(E) Answer not known

I ped 6 weng eedrafiiOulfHater gn USeLanis E@‘Sﬂd.il GlEramE
etlan_wie.

wer 2, 3 &g affigh, 4 wombd 6 4@ Hmdgb Foodd Epsser

spoisiEneT argl s

(A) 1, 5 & adfles Bmben

(B) 4,6 &g adlild GEash

(C) 4, 2 &b 6 s@wih sipdla Emsen
(D) 1, 2 &b 3 s@h aypdlan @oden

{E;:l aflan_ Glgmu_mﬂémm
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126. If A is B's sister, C is B's mother, D is C's father and E is D’s
mother, then how is A related to D7

A Grand Daughter (B) Daughter
(C) Aunt (D) Father
(E) Answer not known

A eanueui Blflen sGangfl, C ereruai Bullar gmis, D eramuanr Culler gheang
e E edweanr D@er smio. Opg A eaduaur D oevedr erdusummy

Qarfryeewieut?
(A) CGusd (B) wsen
(C) =pens (D) gpeng

(E) el Qg flweidens

127. Pointing towards a woman, Raj said “She is the daughter of my
wife's gister”. How 18 the wife of Raj related to the woman?

\(A{ Aunt

(B} Daughter

(C) Sister

(D} Mother

(E) Answer not known

G Gusiranend & Iy, T “=SieudT e wanareililler FEsrgHulen e aend
sagflanm, gy ererucuficl wenenell sy Euadran &E adrar o pey

@) o8

(B) w=dr

(C) oCmngh

(D) smu

(E) <fen Ggflwelcana

: 0 117 GST2AM/2025
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128, In a certain code language, ‘481" means “Sky in blue’, ‘246" means
‘Sea in deep’ and ‘698" means ‘Sea looks blue’. What number is the

code for looks™

(A) 4 (B) 6

© & D) 9

(E) Answer not known

@ Eflodie @ildlh Gumflla ‘481 edmrd Cwrenb faur, ‘246
ereimTd ‘B Sppwrarg’ npmub ‘698’ crdarmrd ‘b fowren Cgrhmi’ srény
EolssnL LD, Carppsdlberar s @Hui B Gumd erdrens

(A) 4 (B) 6

(C) 8 (D) 9

(E) eflen Ggfuieidena

1289, Choose the odd one out :

(A) AEHL (B) BFJN
(C) HLPT (D) MQVZ

(E) Answer not known
THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

THE EXPFERT COMMITTEE FOR FINAL DECISION
Geaugul gerwps Carbbsfss Eatadd wnon de. S8 wednsrs
EMOUSIA 0 (WO ST L ST
(A) AEHL (B) BFJN
(C) HLPT (D) MQVZ

(E) efan Qgflweldena

T

GST2ZAM/2025 118



130. The same relationship obtain in one of the 4 alternative given

below :

Evaporation ;: Cloud : Rain

(A) Sneezing : Cough : Cold
\{ﬁ} Apcident : Injury : Pain

(C) Tanning : Leather : Purse

(D) Bud : Flower :.F‘rag'ram::e

(E) Answer not known

s eflungd : Guosb : wenp

@is Bemanse Dunmssworar Gaaraud Gaiildsfes
(A) subwd : @mineo : Fafl

(B) efusg : smub : auell -~

(C) Gard ugefiGgea : Gemb ; Lamlen

M) Guom’ @ : wayt : BRIcemb

(E) eflen Qflwehdana

= 118 GST2ZAM/2026
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131. Choose the best alternative as the answer :

Which one of the following is alwavs found in Bravery?
\/{} Courage

(B) Experiences

(C} Power

(1) Knowledge

(E) Anawer not known

lsssflumar inmpm eflen emug Gafra) B,

s e Arudufuafl b Spasneruapger ag sramiufin
(A) el

(B)  gguiauniser

(Cy =&d

(D) =ifey

(E)  eflen dsfluefldma
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132. Which figure in the option 15 embedded in the pattern given 1n

figure (X)?
I__
=E]
(X)
=1
) ® [[T]=

V«E‘f@ D)

(E) Answer not known

Gampasston Garer (X) u_gdds stihs & manh nenmbsemars) 7

=

(X)
=41
(A) @B [[]=
/TN
(| INL (L)
(E)  sflen Qafluehiidena
t 121 GST2ZAM/2025
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133. Study the following arrangement carefully and answer the question

given
RD15E%KS.J19P8#A2BSKMeWaEN4aT*7TFH

How many such consonants are there in the above arrangement,
each of which is immediately preceded by a symbol and immediately
followed by a number?

(A) One

VﬁB’} Two

{C) Three
(D} Four

(E) Answer not known

Gy RanPésiu L G ews seuanons Ugss deamdie deo uaiss.

RD15E%K3J19P8#A2BEKMEW@N4@T*7TFH

Cuopmfitnd’ L Gsmfld  iifes peaemd Hissrs adrgmb
Em&monn aisaar Qi Quppssssd o dratan;

(A) geny

(B) Grani

(€) apenpy

(D) mreng

(E) afen Gaflusidana
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134, Statement: ‘We follow some of the best and effective teaching

learning practices used by leading institutes all over
the world — A statement of a professor of
M.N. Institute,

Conclusion : 1. The M.N. Institute is one of the leading institutes

(A}

(C)
(D)
(E)

sabi

sy

(A)
(B)
(C)
(D)
()

of the world.

II. Whatever is being followed by world's leading
institutes will definitely be good and useful.
If only coneclusion I follows
If only conclusion 1T follows
If either [ or 11 follows
If both I and 11 follows

Answer not known

prisdt dla gpenpuirer, sflwurer wmb abHGsEb Sghpdsame,
e ofld edia Quilu Apeadseis Bmis Ugsss spilsdGomb
— M.N. Institute Professor.

+ I M.N. fpesannd eodd & drar @ Spbs fineuend.

II. epadd oder SApss Bpeueriisd s GlydesDd maiaoae
pebenauEeTTEayh, LG Lodarena L rsaD E)nEEib.

apigey [ wifdib s
cpig ey 1T i s of
apay 1 sydag 11 of

apieey 1 whps IT #0
sflenL. Asfiuaidena

123 GST2AM/2025
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135. This gquestion is based on the following information :
A # B means A is divided by B
A * B means A 18 multiplied by B
Salary of Ram is (A) 80% of salary of Ravi is (B).

Find out the right choice to present it :

(A) A=(100#80)+B

(B) A=80#100%#B
O A=(80#100)*B
M) A=80+100+DB

(E) Answer not known

Elhss Gadrefl Sdreumn gradsmar &g l@ULTss Carar s ;
A# B aemug A aumgsa B

A* B eeiug A Quinsse B

i eraoruuler cugromant (A) reflufldr eumerengdlen (B) 80%,
silwrar Gavae samfls :

(A) A=(100#80)*B

(B) A=80#100#B
(C) A=(80#100)*B
(D) A=80%100+B

(E) aflen Gafusiidaa
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136. Fill in the blanks with a suitable figure from the option given

5 ?
(&) O A Q
- ) O

(E) Answer not known

sAHUCL G gfd silwman L gflenam@l { Bl s

RINEE
(&) O (B) Q
(8)) (D) O

(E) eflen Gmflwehicoencn

= 125 GST2ZAM/2025
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137. Statement : Nuclear power cannot make a country secure,

Courses of Action

I :  We should stop further increasing our nuclear power
II ' We should deatroy out nuclear capability
Il : We should focus on improving diplomatic relations

(A) Only I follows
(B}  Only II follows
\Kﬁ Only III follows
(D) Both I and II follows

(K} Answer not known

sl ¢ g sedurd BT g UTSSTUML & RelnEs (PG LI
ELaugsansiden GLnges, |

I ¢ pog sgssdeou Cogib sfsftuas Bmss CaanGib,
I gy sedmu syflss Cadrfn
HI :  gigrs = pasaer Swbu@ssiaudd saemb Geapss Salahm®ib

(A) pranses [ o Gk &f
(B) meugdems IT wi G s
(C) pragsems 11l wopb &
(D) mauysems I oamyn 1T A
(E) eflen Gaflweildena
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138. Find the missing number

36 216

(A) 4
(B) 9
(C) 40

JBT 16

(E) Answer not known
Afurs @)L g Hlyigs

36 216

(A) 4

(B)

(C) 49

(D) 16

(E) eflenr Gafhuaidana

25

2h

127

125

125
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139, January 1, 2007 was Monday. What day of the week lies on
January 1, 2008?

(A) Monday \(ﬁrTue-sdajr
(C) Wednesday (D) Sunday

(E) Answer not known

meraufl 1, 2007 Shis  dpen aeflle gerad 1, 2008 eener dipenowns

Elm&EED 7
(A) Sas fpewn (B) Gdueumiidlipenn
(L) yzendpano (D) wmdomsSpans

(E) e Gsflucioma

140. If 1 January of year 2020 is Thursday then what day of the week
lies on 1= January 20217 '

(A) Monday (B) Wednesday
(C) Friday S Saturday

(E} Answer not known
2020 ganaufl 1 b Gsdl Swmpsflpew eafla 2021 ganaulfl (pmed HraT
eTekTen é‘lrigmm'?

(A)  dmsan (B) yysen
{C) Geueref (D) =afl
(E) sfen_ Qafuchdma
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ugH-@ - Gurg g rdlowd
Part-C — General English

ellemmasar : 141-200

Questions :141-200

141. Fill in the blanks with a suitable infinitive.

Can you hope the stars?
(A) towalk (B) to number
) toecount (D) to counting

(E)  Answer not known

142. Select the correct Active Form of the sentence given :
“The _wnunded man was being helped by some boys”™.
(A} Some boys helped the wounded man.

(B) Some boys have helped the wounded man.

fo} Some boys were helping the wounded man.
(1))  Some boys are helping the wounded man.
(E}  Answer not known

143. Select the correct passive voice for the given sentence.

We know that some children go wise early.

1. It is known that some children go wise early

2. Some children are known to go wise early

3. It is being known that some children go wise early
4. Some children are being known to go wise early,
(A) 1 only (B) 2 only

C) land2 (D) 3and 4

(E) Answer not known
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144, Select the correct Tense form :

Will ¥ou be doing laundry tonight?
(A) Future perfect tense
(B) Future tense
\/(ﬁ] Future continuous tense
(D) Future Perfect continuous tense

(E) Answer not known

A a
145. Select the correct Question Tag : THIS QUESTION AND ANSWER ARE TO BE PLACED
THE EXPERT COMMITTEE FOR FINAL DECISION

Let him go there, 7 B&tesdl nhob e S8 wednars
IR0 0ol e (O o BN LILIL LTI,

(A) Shall we (B) Shan't him?
(C) Shall him? (D)} Shall he?

(E} Answer not known

146. Select the correct Question Tag :

Let's take this matter to count ?
(A) Can we? v Shall we?
(C) May we? (D) Should we?

(E) Answer not known
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147.

Choose the correct preposition,

The Moon shines bright the clouds.
(A) Beside (B} Among
V('C’J Behind (D)} Between

148,

149,

150.

(E) Answer not known

Fill in the blanks with the suitable preposition.

She poured the sauce the pasta.

(A) through (B) about

(C) out \jb} over

(E}  Answer not known

Fill in the blanks with suitable article from the options given below.

The organization helps elderly.
(4) an VB the
(C) a (I} no article

(E) Answer not known

Fill in the blanks with a suitable Article from the options given
below:

France 13 European country.
(A} an Vé} |
(C) the (D) one

(E) Answer not known

141 GSE2AM/2025
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151. Choose the correct ‘Antonym’ for the underlined word from the

options given :
Police were all over the place; doors were yanked open,

(4) Pulled w.{ﬁj Fixed
(C) Broke (D)) Shook

(E) Answer not known

152. Choose the correct Antonym for the underlined word.
Women tend to be vivacious always,
(A}  Full of energy Vé‘.} Lethargie
{C) Dejected (D) Gorgeous

(E) Answer not known

153, Choose the correct ‘Synonym’' for the underlined word from the

options given :

You may. being in a hurry, and seeing your car pulled up by his

insolence of office.

{A) Prudence ‘6} Rudeness
(C) Gentleness (D) Intelligence

(E) Answer not known
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154.

Discipline is the most essential virtue you should acquire when you
are young. [t is a complex quality. It shapes your mind to religious,
social and economic patterns when you grow up to be an active
citizen.

At a voung age. we do not realize the value of discipline. An athlete
disciplines himzelf and keeps himself fit. He refrains from smoking,
ohserves good food habits and keeps good health. Discipline
increases the human energy and implies control, resistance and

adjustment. Our energy is saved and made vital for a good output.

How is discipline beneficial to human beings?
(A) 'T'o be wealthy Vé} To be with good habits
(C) To be religious (D) To be economical

(E) Answer not known

156. The word ‘essential’ means

(A) important (B) compulsory

\/(C] Necessary (1) meaningful

158,

(E) Answer not known

What does discipline increase in us?
M The human energy (B) Unlimited freedom
(C) Complex quality (D) Acquiring freedom

(E) Answer not known
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157, Fill in the blanks in a sentence with appropriate compound words.

Don't rely on the

(A) Raining days \{ﬁ] Sleeping pall
(C)  Drawing room (D)) Helping mind

(E) Answer not known

158. Fill in the blanks with a compound word.

On rainy days, we enjoy playing games,
(A) Water V‘fﬁl Indoor
(C) Card (D) Board

(E) Answer not known

159. Fill in the blanks with appropriate compound word.

Recently Sara bought a brand new

(A) Sugar candy "{ﬁ} Washing machine
(C) Ire-cream (D) Foot hall

(E) Answer not known
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160, Choose the correct degree to complete the sentence.

The Amazon is __river in the world.
(A) the most longest
(B) the longer
‘/63} the longest
(D) longest
(E} Answer not known

161. Identify the sentence with the correct superlative form.

@)
/B
(©

(D)
(E)

He is the more fastest runner in the team
This is the best cake 1 have ever tasted

That movie was the less interesting of all

She is the more talented musician in the band

Answer not known

162. Tdentify the degree of the word “inferior”.

(A)

J©

(E)

Positive (B) Superlative
Comparative (D) All the above
Answer not known
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163. Find out the correct plural form of the word ‘crisis’.

(A) Crisese
.AE} Crises

(C) Crisises

(D) Crisis

{E) Answer not known

164. Find out the correct plural form for the word ‘deer’,

(A)  dear
(B} deers
{C) dears

\Ai]} deer

(E) Answer not known

165. Find out the odd word.

v(ﬂﬂ quickly (B} break
(C) split (D) tear

(E), Answer not known
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166. Select the correct sentence.
(A) He is junior than me.
(B) Heis a MLA.
ﬂ} She 1s the cleverest girl in the class.
(D} This is a best poem of Tagore.
(E) Answer not known

167, Choose the correct homophone from the list given below:
She has gone to buy Stationery.
(A) Stationery
(B) Stationory
v{ﬁ} Stationary
(D) Stationairy

(E) Answer not known

168, Find out the error in the sentence and pick out the correet sentence.

At that time, she was writing a book for three months.

(A) AL that time, she have writing a book for three months

(B) At that time, she had writing a hook for three months
vﬂ]} At that time, she had been writing a book for three months

(I - At that time, she has writing a book for three months

(E) Answer not known
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169. Identify the sentence pattern of the following sentence.

In the hall, during prayer song, the students are silent.

Ay 8+V+0 (B) A+85+V+C
) ATA+5+V+C (D) S+V+A
(E) Anaswer not known

170. Identify the sentence pattern of the following sentence from the
options given below :

I placed the camera on the tripod.

A) ASVC (B) ASVO
v svoa D) SVOC

(E) Answer not known

171. Identify the sentence pattern of the following sentence.

She made his intention clear.

(A) S+V+0+C+A B S+V+C+A
(C)y A+8+V+0 W) 5+V+DO+C

(E} Answer not known

172. Fill in the blanks with correct participle from the options given.

early, Pami had time to review her notes before the

test.
(A) Have arrived V(‘ﬁ_l Having arrived
(C)  Arriving (D) Arrived

(E) Answer not known
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173, Select the correct tense :

174,

She an exam at 2 p.m. tomorrow,
(A) vl talke ) will be taking
(C) shall take (D)) shall be taking

(E) Answer not known

Select the correct question tag
[ have captured some heautiful moments in my camera’

(A) aren't I?

B didn'tI?

\’,ﬂj} haven't I

(D} havel?

(E) Answer not known

175. Seleet the correct tense and fill in the blanks given in the sentence

below :

The plane _ by the time | got to the airport.
(A} iz left \/(BP;I had left

(C) -was left (D) were left

(E}) Answer not known
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176. Select the correct Question Tag ;

Sheena won't mind if I use her book ?
(A) won't she? (B) didn't she?
(C) haven’t she? D) will she?

(E}) Answer not known

177. Fill in the blanks with a suitable preposition.

He had been a difficult experience.
(A) to (B) towards
VJ(C} through (D) thorough

(E) Answer not known

178. Fill in the blanks with a suitable preposition.

When she came me shouting, 1 retreated behind my
desk.
(A) through (B) to

.\/fb) towards (D) till

(E) Answer not known
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179. Select the correct affix and form correct words.

The squares are aligned with each other across

different rows.

(A) un (B) dis

\’ﬁ} mis (I} in

(E}  Answer not known

180. Select the correct suffix and form a correct word.

The markets offer a (vary) of fresh fruits and

vegetables.

{A) um : (B) tion

\Aﬁ} iety (D) sion

(E}  Answer not known

181. Choose the correct Prefix from the given options.
She narrated the incident in an (imitable) etyle,
(A) un VB in
(C) dis (D) mis

(E}  Answer not known
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182, Choose the correct Synonym for the underlined word.

The bride was garrulous during the occasion.

(A) Anxious
}  Talkative

(E) Answer not known

(B) Wise
(D) Quiet

183, Match the following words and phrases given in Column A with
their meanings in Column B.

Column A
(a) Find the pony
(b} Sleep like a log
(c) Kettle of fish

(d) Upset the apple cart

(ay (b)) (e

(A) 4 3 2

) 3 4 1
vﬁj 2 3 4
D) 1 2 3
(E) Answer not known

(d)

1
2

",

1
4

1.
8
3,

4,

Column B
a difficult situation
cause trouble

find something good in a bad
situation

deep sleep

184. Match the following words and phrases given in Column A with

Column B.
Column A

(a) look out

(b) look into

(c) look upto

(d) look up
(a (b (o)

(A) 3 2 1
(B 4 3 1
(Cy 3 4 1

v 4 3 2
(E) Answer not known

GSE2ZAM/2025
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d
4
2
2
1
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Column B
search
admire
investigate
be careful



155, From the given sentence replace the British English to American
English.

She's very mean with her money. Don't ask her for any help.

(A)
v
©)
(D)
(E)

Miser
Stingy
Wealthw
Generous

Answer not known

186. Choose the correct British English word for the American English

word FALL.
(A)  Waterfall
\’/fB} Autumn
(C) '-Snnwfﬂll
(D) Rainfall
{E) Answer not known

187. Identify the American English word for “Pavement”.

(A)

SO

(E)

Platform (B) Stage
Sidewalk (D) Podium

Answer not known
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188. Which compound words is with the pattern ‘Noun + Verb'?
(A) Airport (B) Butter paper
Vfﬁ Foot print (I} Fishing net

(E) Answer not known

189. Choose the right combination for the blended word “docudrama®.

ﬁ} Documentary + drama
(B) Document + drama
(C) Documentation + drama
(D) Document paper + drama

(E)  Answer not known

190, Identify the blend of ‘friend + enemy’.

(A)  frenmy (B} freemy

v(t‘) frenemy (D) friemy
(E} Answer not known

191. COZYTIVITY
Find the blended word.

(A)  Coziness + Activity (B} Coziful + Activity
(C) Cozine + Activity VD) Cozy + Activity

(E) Answer not known
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192, Select the Complex Sentence.,

\,ﬂ(} Although it was raining, we decided to go for a walk.

(B)

(€

(I

(E)

It rained but we decided to go for a walk.

No sooner it rained than we went for a walk.

It was raining and so we did not go for a walk,

Answer not known

193. Identify the sentence.

We wish to reap 20 we sow.

@A)
vB
©
(D)

(E)

Simple sentence

Compound sentence

Complex sentence

Interrogative sentence

Answer not known
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194. ldentify the sentence which has error in subject verb Agreement.

(A} The team has been working hard,
(B) Time and tide waits for no man.

VAC) She don't have a pen.
(I)) He doesn’t come outside nowadays.
(E) Answer not known

195. Fill in the blanks with correct homophone.

The for the ride was expensive,
(A) fair (B) fore
(C) far '\/m}' fare

(E) Answer not known

196, Select the correct homophone for the word ‘mail’.

(A) myle (B) maile
\/ﬂ?} male (D) mile

(E) Answer not known

197. Choose the correct homophones that rhymes with the underlined
word.

The dog wagged its tail.

(A) taile ‘*61] tale
(C) toile (D) toal

(E) Answer not known

198. Identify the sentence pattern of the following sentence,

Fondly, she asked.

(A S+V+0 (B) 8+V+C
(C) A+8+4C V/{D}A+S+?

(E) Answer not known

GEEZAM/2025 146 5



199, Find out the odd word.
(a) Jury
(b} Sparrow

{c) Committee

(d) troop
\/A{ Sparrow
(B) Jury

(C) Committee
(I}  Troop

(E) Answer not known

200. Select the correct sentence.

(A) Ewvery students like the teacher.

(B) He do not have a music system.
SO Heis taller than T.

{D)y She love her father.

(E) Answer not known

B 147 GSEZAM/2025
[Turn over



SPACE FOR ROUGH WORK

GSEZAM/20256 148



SPACE FOR ROUGH WORK

149 GSEZAM/2025
[Turn over



SPACE FOR ROUGH WORK

GSE2AM/2025 1560



SPACE FOR ROUGH WORK

151 GSE2AM/2025
[Turn over



GSE2AM/2025

g

2025
srer — 11
Biis elermiygssd
- -Aung sydlay {uhwuwr;gi Sb). -y -Gung pensrdla) pmub

Lgggg ey whph gl -G -dung 2 = {Uﬁﬁﬂb QUGBS SND) apliadflener

ae Maray  apenn weefl Sgok] [Gurgs witiCuemsdr : 304

efflonmis@rim dileLdfiigh apdr Eptachr aflamesemed samnrsl Lgdsaph

e ROpE

1l
b

1L

14.

apadiy omfleaymess
s ﬂﬂ%-- b GEmay BT BaBRE0E LS B0 RS g SR Gl R L
E I-i'lpTug.Lu 200 samssmad deneatirnm s dlemidenEots eignussgmsyn BEElan ek

skEL_maren gﬂum (MR Sa garst oD Sarpasaisnsih i i b i s ahilen_marand i
earafhc L el e shndiu gy .qﬂ-ﬁﬂmntqﬂm_ﬁumﬁ'; i |q£ Iﬁ.ﬂhmmm_n_n_@ﬁum ol
et nﬂn'rrhw}:' eHani_iimfiis Paanfil, sstamim) nﬂurr.in,ﬁuh Fiomar gl e HangrL e,
m:ﬂ-wﬂ.l],:.n comaam UME & gardie gyl o cli el i,
g :-Qlﬂ-l i !ﬂmnh@jnwﬂmﬁ.:w . Lm?ﬁﬁu:ﬁm ufh_ W Qmpm%f?_im
u'nbmu..lh EsimE ST L E iy Ferdraeg b, alarmg uﬂ%ﬁ] imamis 2 g _ﬁl
i ;

_ w%ﬂmml_m L RreTa (oL fyah. e : th_rrrrlg
LILIL LD 1 ITg. =
SIS RS A s o v it G B ki
ﬁﬁmﬁﬂmm&m?ﬁmmmw@mcmmmwmﬂmm
sk v e snus Cilia) Geiyy ofan gamates ===l
'!}uIIH_A_ ur&:eﬂm_ﬁ-@_u_pn,ﬁlﬂ |mlﬂg“ ﬁmmji m
-ﬂﬂ—,ﬂlﬂ"ﬁ? M.-ﬂ.ulh ﬂuuw
wnﬂﬁh ﬂﬂ.{-ﬁlﬂ&@ﬂﬂ] -&mﬂnmﬂg ;mae g, Benucs Ba dise
sqarfidanel, Lenutyrair ﬁ'-'} hmﬁ_mﬁmw

ailamr Gl i et F'HF E"-lnﬁ'ﬂlb FEERAEE (EICIL RS o TRy, railedr eplcumiugis eilled Clanmin
e E0n dnd A, weher "Space for Rough Work" Ltstaoen vesnigeds Cendrooms @lg oo semngluns
Senhiciul. Geuen

sk auflleos webrdn 1 g 100 aumy (omfl-on hgid 100 gpged 140 eoior (upd-). tideo g la Godurag

mﬂ'ﬂmﬁﬁﬁ' His slendbgreitesBur sday dlougpraarur Jafay oserneusilf Qv F iR
LT

%f;mw edammiy dlmofErme  Eemamaiosandl b
e Eray Qpghe St | iﬁﬁ 1 FRET wlhu  Hasta
FAECIL T -

d'lmr;ﬂpﬂﬁ.f-q e e mﬂqmu EILMH: efhurs anpd d'.lml!m':'g R LB B0 iar (eusn ik,

LM s L gt arain el
ﬂ ﬂﬁﬂﬂ L -!i.liﬂ' Bdiumsn lﬁn_ul.u_ m ﬁnﬁlh g;ﬂn_nu Eu:_uuw._q_uﬁmﬁli:::
FEUTNE _HI:I'..II.IIJIJI_EHI,MT\H.I
e L S

Gepa Dodul e sl e Brouilee g odeid

iRl darggrd g flomiar ambdlin Lo ung dkangena el e ooy mbend

gerg o) mgus Sabe L w1 SIS Enouiue mod i 1000 g

BT Sl Eugé.li.llluLl_ el enrgClpma il adflciarg Gain adnsee Semilansldherar o | ssais

it
3)  specdln o Gsnere ggppaes Guenr (Black Ink Ball Point Pen) gefin Sap Guar eoGumsiufsd
O -lﬂm.”qﬂl ;ﬂl;u;pucu_u'_q..;sﬂﬂﬁ .aqduﬂm..#rdr ﬂmrﬂrmm_ﬁu_

® F B F B B

ey U sl e ey KR |
= ehiomilClargeil) s epgeghy Qypds’is’ | @' Reafld v
Il g ion ehabrmrs gt Gaty s s W”Bmﬂ"ﬁl G

firuma Gunforam, . ET Lian T} i flanmakicy ¥
Iﬂilﬁlh pmm.ﬂtﬂmg. tm:%m .;m|:Frn||I-‘lltl|;m,|;.|.'|'l:l:t ﬁggmwmu-m i;'.:!'-"-' s




